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SIHM m, BT TP FAM SN ¥ ACHMAT AT B
forasr gav T S99 m, 9 ST g 2|
TH SR m, B THE | ded @ o b
4 fRRemr w1 21 39 SN § 999 ®

(1) &
(3) mg

500 B¢ IMMART HI TH WA T 360 /4.
® 9T ¥ I B &l 2| 60° PR e 1 65
Th qEN @ fhah ¢ W F?

(1) 0.42m

(2) 0.32m

(3) 0.22m

(4) 0.12m

(2) mg

(4) (mz_ m1)g

99 F=6i-8j+10k, @1 a1 & dsad fyvs
1 m/s?2 BT @RY YT Hdl 2| 39 v &7

TYA BT ARy

(1) 10v2 kg
(2) 15kg

(3) 242 kg

(4) 30kg

TS |, IURT FIC ATHel A T I AMIG Y
qrell TP Udell I B B @ al Rer A®Rl
@ 99 H Seel T B IR T 39 UER ™
fpar o0 & sOaT a9EE AT 98 W™ 99T
s § URadd I B, A TS R AT 4T
S5 HfeT T ®

AY
(1) AT (2) AYa AT
IAY
(3) IAYa AT (4 AT

Mass m, is hanged using a uniform string whose
other end is attached to a mass m,. A string
connects m, to ground as shown in figure.
Tension in this string is

(1
@
3

) zero
) mg
) myg
4) (my,—m,)g

A progressive wave of frequency 500 Hz is
travelling with velocity of 360 m/s. How far apart
are two points 60° out of phase?

(1) 0.42m
(2) 0.32m
(3) 0.22 m
(4) 0.12m

A body under the action of a force
F=6i-8j+10k, acquires an acceleration of
1 m/s2. The mass of this body must be

(1) 1052 kg
(2) 15kg

(3) 242 kg

(4) 30kg

A thin steel rod of length |, area of cross section
A and Young's modulus Y is clamped between
two fixed supports. If it is heated such that its
temperature increases by AT and its change in

length is zero, then the thermal compressive
force exerted on the rod is

AY
(1) AT (2) AYa AT
IAY
(3) IAYa AT (4 AT
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20 ms™' 9 W YA fear oA 21 s uAy
U & Soad fig R s Afd /s #) ErfY

(1) 5v3

(2) 1043

(3) 1543

(4) 2043

AEAS [ocardyvl ReRie &1 o™ 3
(1) M2L2T]

2 MT?

(3) M?LT?]

4) M2T]

TE9 p W TH URATVIRAS A4, a1 maa= v
2, 9HaY B9 W 2V I-GT 9P Badl g AR
Y BgI™ B4 W 16V G- dh Berd! 2 4

o1 3iftH T9 ' (y=§ )

1) p/64

2) 30 p

3) 70p

4) 18 p

frafafeg & 9 @9 @ g Reries 87
(1) ATYeT T

(
(
(
(

(2) T
(3) Ui
(4) ToATHYU ReRid

A particle of mass M is situated at the centre of
a spherical shell of same mass and radius a.
The gravitational potential at a point situated
at a/2 distance from the centre will be

4GM
(1 ——

A ball is projected with a velocity 20 ms~, at an
angle of 60° with the vertical direction. Its speed
(in m/s) at the highest point of its trajectory will
be

(1) 53
2) 1043
3) 1543
(4) 203

The dimensions of universal gravitational
constant is

(1) M2L2T7]
(2 M'T?
(3) M?LT7
4) ML2T7]

A monoatomic gas at a pressure p, having a
volume V expands isothermally to a volume 2V
and then adiabatically to a volume 16V. The final

5
pressure of the gas is (take v = 5)

1
2
3
4

p/64
30p
70p
18 p

Which of the following is a dimensional
constant?

(1)
(2)
(3)
(4)

(1) Relative density
(2) Strain
(3) Refractive index

(4) Gravitational constant
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Th AT P HEER HUR P AR BbT Sl 2|
W9 98 AU AfrpaH SHAS B AT W WX
Ugd O ®, @ SHal IRy 10 Hiex /Aadve &
St 21 A fha $uE % Sodl &7

(1) 20m

(2) 10m

(3) 5m

(4) 15m

= < puw fay Wy &

U - | ; I ot aFiaR dfear &1 89T afviR
wda dfom s9o 74 7= o (dew @
A1 W @Al g, d 9 TR P STeuaHi®
0.125 & &1 (MSD = 1mm)

U - Il : SNRIgd afaR dfamw &1 STIT

Fxd, fodl a8 g @& =™ @1 A" 0.12 Rl @
HHAT B |

(1) S BUF | T 11 3T B

(2) U | T & W HIT |l 3T

(3) TUF || I & R HAA | 3 B

(4) TFT BUF | UG |1 T

T$ HI9IRX de€ W 2M fFaum /Ievs &) =X
| RF fiir <&@ & doT @1 favaw wfw
v fick/qdvs B 91 T B AU awas
gd (Req #H) gnm

(1) 2Mv

2) Mv

(3) 2Miv

(4) vi2m

g, RIRG & Ul # T&WE ST YA T BNIP
(R = gt @1 =)

R? R
(1) 95 2) G5
:R R?
(3) 9 G 4) GE

U6 Taseld 840 ¥UH/fMe @1 o | €A
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T 8 BT B TR B BhE H fdhar
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(1) 8s
) 5s
@3) 2s
@) 10's

10.

1.

12.

13.

14.

A ball is thrown vertically upward. It has a speed
of 10 m/s, when it has reached one-half of its
maximum height. How high does the ball rise?

Given below are two statements

Statement - | : If 8th vernier scale division of a
vernier caliper coincide with its 7th main scale
division, then the least count of the vernier
caliper is 0.125 mm. (MSD = 1mm)

Statement - Il : Using above vernier caliper, the
measurement of diameter of an object can be
0.12 mm.

(1)
)

Both statements | and |l are incorrect

Statement | is correct and statement Il is
incorrect

Statement |l is correct and statement | is
incorrect

3)
(4) Both Statements | and Il are correct

Sand is being dropped on a conveyor belt at
the rate of 2M kg/s. The force (in newton)
necessary to keep the belt moving with a
constant velocity v m/s will be

(1) 2Mv
) Mv

(3) 2Miv
@) vi2M

What will be the formula of the mass in terms of
d, R and G? (R = radius of the earth)

R? R
(1) 95 2) GE
R R
3) 9 G 4) G g

A flywheel rotating at 840 rpm slows down at a
constant rate of 11 rad s=2. The time required to
stop the flywheel is

(1) 8s
(2) 5s
(3) 2's
4) 10's
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TP U8 B URM® A v=(pi+qf) W/
P IR BHT TAT 2| IR YW P RN sH9D
gRT U Af¥pad Harg 1 I B, @

(1 a=p

(2) 9=2p

) p=2q

(4) 9=4p

TH RS BT 12N P I ¥ 6 cm Hidm €T 2 |
W9 2 kg TIAE B $H® gNT afed fear
War 8, A Sl @ SEf (@evs H) @
(1) 6.008

(2) 6.28

(3) 0.628

(4) 0.0628

ga@rg mgul 50iA-m? AT UH GIH X-31&
o Jqfxe @1 AT B, G gIDII &F
B=(0.5{+3.0))T %| g% W A &I arell
I ImEYl ©

(1) 175kN-m

(2) 150kN-m

(3) 75kN-m

(4) 2537kN-m

TH o4l uRerfarer § 1000 TgER B W9 A
4 UER @1 gRT yared &l 8, @ uRReferat

D TS T} ¥ foiw fHar T Jea voad
4 x 103 Wb & | gReIfeldT &1 WReT &

(1) 2H
(2) 4 H
(3) 1H
(4) 3H
dfde § AR B & o Ruaiark &
10 1V
M_Wv i
50 10 2V 100
WG W—— MWW
10 3v
N—\WW |
(1) 6V (2 1V
(3) 3V 4) 2V

15.

16.

17.

18.

19.

A projectile is thrown with an initial velocity of
v=(pi+qj) m/s. If the range of the projectile is
double the maximum height reached by it, then
(1 a=p

(2) a=2p

() p=2q

(4) a=4p

A spring is stretched by 6 cm by a force 12 N.
The time period (in s) of the oscillations when a
mass of 2 kg is suspended by it is

(1) 6.008
(2) 6.28

(3) 0.628
(4) 0.0628

A magnet of magnetic moment 50i A -m? placed
along X-axis, where magnetic field is
B=(0.5i+3.0j)T. The torque acting on magnet
is

(1) 175kN-m

(2) 150kN-m

(3) 75kN-m

(4) 25\37kN-m

A long solenoid has 1000 turns. When a current
of 4 A flows through it, the magnetic flux linked
with each turn of the solenoid is 4 x 10~ Wh.
The self-inductance of the solenoid is

(1) 2H
(2) 4H
3) 1H
(4) 3H

In the circuit, the potential difference between
Aand B is

10 1V
M Av‘v‘v‘v i
50 1 2V 100
~AMN/ 'W%* F—WW—
A D ! I B
10 3V
N ——] —
(1) 6V (2 1V
(3) 3V 4) 2V
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U Bl g9 O  dARI 3R a IMAMH IR T
ATadhTd & qrr INgd AT Aad A B T
2 OW T/8 G9Y @ dIg SHSI faverod 2

(1)

| o

(2)

N

©)

s

@ 57
TP GIRF 10pC KT B Th S & |
Ses TR HUE Al 2| O W & s/ Pl
IR U@ WA | W oar 7, af dTf |
20uC JATAY gaIfEa sIAT 2 | WEAYd &1
WIS 2

(1) K=2

(2) K=3

(3) K=4

4) K=1

T AegH § AT B drenl fAga geer O’
H AU gebd 1.3 AR AU WEad 2.14 T
SH Hegd A fIgd gedm o< @ iy & rh
(1) 13.6 x 108 m/s

(2) 1.8 x 108 m/s

(3) 3.6 x 108 m/s

(4) 1.8 x 108 m/s

Th TANT 4, 10 99 BieE ¥ qiem TP

:

W (P Sad QU B 9RE TS A Cc|
R FHAFGR @1 AT 8, Ol $E9 2.66 /AT B
R W | 9 T 7 P Iy iR swar Bl
HIE 2| IR a8 BT o9 | 25 9N B T W
@l o g, d Sad * BHE T B
(1) 5¢cm
(2) 7cm
(3) 8 cm
(4) 10cm

5 ¥ a1 I e @rEen g1g d1 Mar W
wfed & f& sH@ was R fava 10 diee B
Mt & d= W fawa gmm

(1) 10V

(2) 0.2V
3) 5V
(4) I3

20.

21,

22,

23.

24,

A small mass executes linear SHM about O with
amplitude a and period T. Its displacement from
O at time T/8 after passing through O is

™ 3

Q

(2)

N |

o

@)

a

2.2

A capacitor stores 10uC charge when

connected across a battery. When the gap
between the plates is filled with a dielectric, a

charge of 20uC flows through the battery. Find
the dielectric constant of the dielectric.

(1) K=2

(2) K=3

3) K=4

4) K=1

The electromagnetic wave travelling in a
medium has relative permeability 1.3 and

relative permittivity 2.14. The speed of EM wave
in that medium will be

(1) 13.6 x 108 m/s
(2) 1.8 x 106 m/s
(3) 3.6 x 108 m/s
(4) 1.8 x 108 m/s

In an experiment, a convex lens of focal length
10 cm in placed co-axially on an optical bench
in front of a convex mirror at a distance 2.66 cm
from it. It is found that object and its image co-
incide. If the object is placed at a distance of 25
cm from the lens, then the focal length of the
convex mirror is

(1) 5¢cm
(2) 7cm
(3) 8cm
(4) 10cm

A hollow metal sphere of radius 5 cm is charged
such that the potential on its surface is 10 V. The
potential at the centre of the sphere will be

(1) 10V

(4)

)
)
)
)




25. RYf(RIY © UHh dR &I Ub o9 ABCD §-T9 &

26.

27.

28.

ford e war @ 9 & o A f@mr w2
E3R ¢ © d/9 ywdl gk & €, 9T CD &7
7 fig ®)

A B

(4)

TS IBfead dieeol E (dlee #) =2004/2 sin(100t)
P TH 1puF DHURIEI B Th AC ek © A1=gH
¥ oirer T B efier @) urggmH Erft

(1) 80 mA

(2) 40 mA

(3) 20 mA

(4) 10 mA

p-n @M ¥ fag gk 0.3 V 8| 9P oRT
6 mA 2| SFIM @& |1 A HT 2000
gfeRlg SieT T 2, O 99 B o aawe
fag@ aws Id &

(1) 1.5V

2) 2V

(3) 3V

@) 5V

TIGGIOE URATY] &1 JE=- fawa 13.6 v 2|
TSR WRAN] &1 YHauig fIfeser 4 Swife
fear mar 2, ) ®IeE &oll 12.1 eV B
AR B Rigid & SUR, gEgoT §RT Scafoid
Wagd Y@ grff

(1) &

(2) 94
(3) TP
(4) ©E

25. A wire of resistance R is bent to form a square

26.

27.

28.

ABCD as shown in the figure. The effective
resistance between E and C is (E is mid-point of
arm CD)

A B

@)

(4)

An voltage E

=200+/2sin(100t) is connected to a 1uF

capacitor through an AC ammeter. The reading
of the ammeter will be

(1) 80 mA
(2) 40 mA
(3) 20 mA
(4) 10 mA
The barrier potential in a p-n junction is 0.3 V.

The current required is 6 mA. The emf of the
cell required for use in the circuit, if a resistance

alternating (in volts)

of 200Q is connected in series with junction is

(1)
2)
(3)
@) 5V

lonisation potential of hydrogen atom is 13.6 V.
Hydrogen atom in the ground state are excited
by monochromatic radiation of photon energy
12.1 eV. According to Bohr's theory, the spectral
lines emitted by hydrogen will be

15V
2V
3V

(1) two
(2) three
(3) one
(4) six
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33.

0.12 fiex BIHH I qTel T& SO od T
I B TH AR gfifds S wRar @
X B ABR BT A A 2| I AR o B
9 & FG B |

(1) 0.12m

(2) 0.24m

(3) 0.08 m

(4) 0.04 m

FAA - | : ool BT g9 Hoil wReAw & Rigia &
Sodiferd Hedl B

HI - Il : YIRT emf AT FJBIT Fadd
IRadT & Ry &xar 8 o g9® SWRA ©
fog f=er 2

1) Ml HUF | UG || 3T &
2) BT | FA & W B 1 AT B

(
(
(3) HH Il 9 T W YA | 3 &

(4) T BAF | TE 11 6 ©

25 dfc X 100 dfc & T gos B HAM TAD
220 diec WX X fHAT TIAT B, SN 440 diee B
amgft @ wrer aoft # Sier war 81 BN A I
TS BH?

(1) 40dic

(2) 25dic

(3) ST (1) 3R (2)

(4) 378 A By Tl

200 T WX U&H 319 g 20° C A9 TR 80° C
TIAEE a1l G99 q9=1 & g § R R @
2| gRomH qIUHEN 60°C B | $H®T Adwd ® b
o @ fafdre oo 2

(1) il BT =R AT

(2) 9Tl BT &I AT

(3) U T AT

(4) G BT U Mg

UH diecHley o9 TP GAMIAR Wic denmfs
oo §a # a1 ¢ @ | Sl 4T, O I8
4 dicc Ugdl ©| O¥ U WAgd @i @ s A
ST 30 & O diccHdler 2 diee Ugdl B o9
gl &1 WEEAi®

(1) 0.5

(2) 2
() 8
4) 10

29.

30.

31.

32.

33.

A convex lens of focal length 0.12 m produces a
virtual image which is thrice the size of the
object. Find the distance between the object and
the lens.

(1) 0.12 m
(2) 0.24 m
(3) 0.08 m
(4) 0.04 m

Statement - | : Lenz's law violates the principle
of conservation of energy.

Statement - 1l : Induced emf always opposes the
change in magnetic flux responsible for its
production.

(1)
)

Both statements | and Il are incorrect

Statement | is correct and statement Il is
incorrect

Statement |l is correct and statement | is
incorrect

@)

Both Statements | and Il are correct

(4)
If two bulbs of power 25 W and 100 W,
respectively each rated at 220 V are connected
in series with supply of 440 V. Which bulb will
fuse?

(1) 40W
(2) 25W
(3) Both (1) and (2)
(4) None of these

200 g of a solid ball at 20° C is dropped in an
equal amount of water at 80° C. The resulting
temperature is 60° C. This means that specific
heat of solid is

(1
@
3
4

four times of water
twice of water
one-half of water

)
)
)
) one-fourth of water

A voltmeter reads 4 V when connected to a
parallel plate capacitor with air as a dielectric.
When a dielectric slab is introduced between
plates for the same configuration, voltmeter
reads 2 V. What is the dielectric constant of the

material?
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35.

36.

37.

38.

With the increase in principal quantum number,
the energy difference between the two
successive energy levels

(1) remains constant

(2) increases

(3) decreases

(4) sometimes increases and sometimes decreases

The rms valueof potential difference V shown
in the figure is

Vﬂ\

Vo

>t
0 2 T

<

(1)

A

)

) |o<

@)

(4)

Gl

Two free parallel wires carrying currents in
opposite direction,

(1) attract each other.

(2) repel each other.

(3) neither attract nor repel.

(4) get rotated to be perpendicular to each other.

The energy of the electromagnetic waves is of
the order of 15 keV. To which part of the
spectrum, does it belong?

(1) Ultraviolet rays
)
®)
(4)

y-rays
Infrated rays
X-rays

A nuclear bomb exploded 200 km above the
surface of moon. The sound of explosion on the
moon

(1) will be heard at the same time.
)
3)
4)

will be heard after explosion.
will heard before the explosion is seen.

will not heard at all.
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SHAM M B P BIel §§ MAPR AT &I
feda 4@ w8 (& ol SR et § e
AT 81 $B A 91 A BT T ReR & SIar
g afy faada &1 o9 T @ u9a@ &7
AT }, A AT W N el W 9 BN (g
H THAHYY & HRUT @O qH)

3 Mg
(1) EMQ (2) >
(3) Mg (4) 2Mg

) U1 Q& BT U@ ST 9 U@ Gy DI Gds
P IE BYAT 2 AR goAderd B Aferepan
TS SOl 2 eV & A1 @R Fdeq &1 3fe

wﬁmaﬁ%aﬁéﬁaﬁwmﬁm

yHIda fvar omar 8, o Scafold goigel Y
sftreaw Tfds Seit Bl (@1g &1 B Be 1
eV 2)

(1) 2 eV

(2) 6eV

(3) 5eV

4) 3eV

$U | : T @ fg—TB3RT TRt 7 A1 I B yDbrer o
Bl <iel 7 & Ub1er &1 (Bl & oI H urE—urd
BT B |

B || BT @I dISls UBRT B dRT F B
STIEHATIUT BT T |

SWRIFT HAAT B AR R 1 7y 70 fwedl § 4
A IR BT AT DN |

(1) S BUF | Td 11 3T &

(2) BT | T € W B | 3T &
(3) BUF || I & TR HAF | 3T B
(4) S HUF | U9 11 I ©

W G- BT e s

A. EDHY 87 I. YR e
B. g@ digar I. 9§

C. g Felad n. |

D. gH®HIF SATE] Iv. 3fgER Hfrex

T ey W Ao 4 9 9 (e g+ -
(1) (A)-(ll1), (B)-(IV), (C)-(1), (D)-(I)
2) (A)-(lm), (B)-(1V), (C)-(1n), (D)-(1)

( )
(3) (A)-(1), (B)-I1), (C)-(Iln), (D)-(1V)
(4) _(A)-(N), (B)-(lN), (C)-(1), (D)-(1V)

39.

40.

41.

42,

A small rigid spherical ball of mass M is dropped
in a long vertical tube containing glycerine. The
velocity of the ball becomes constant after some
time. If the density of glycerine is half of the
density of the ball, then the viscous force acting
on the ball will be

(consider g as acceleration due to gravity)

3 Mg
(1) Mg @
(3) Mg 4) 2Mg

A light source of wavelength ) illuminates a
metal surface and electrons are ejected with
maximum kinetic energy of 2 eV. If the same
surface is illuminated by a light source of

A
wavelength 5 then the maximum kinetic

energy of ejected electrons will be (The work
function of metal is 1 eV)

(1) 2eV
2) 6eV
3) 5eV
(4) 3eV

Statement I: In Young’s double slit experiment,the
fringes produced by red light are closer as compared
to those produced by blue light.

)
(2)
(3)
)

Statement Il : The fringe width is directly proportional
to the wavelength of light.

In the light of above statements, choose the

correct answer from the options given below :
(1
@)

Both statements | and |l are incorrect

Statement | is correct and statement Il is
incorrect

Statement Il is correct and statement | is
incorrect

(3)

(4) Both Statements | and Il are correct
Match List-l with List-II
A. Magnetic induction 1. Ampere meter?
Il. Weber

Ill. Gauss

B. Magnetic intensity
C. Magnetic flux
D. Magnetic moment IV. Ampere meter

Choose the correct answer from the options
given below :

(1) (A)-(), (B)-(1IV), (C)-(1), (D)-(I1)
(2) (A=), (B)-(1V), (C)-(1), (D)-(1)
(3) (A)-(1), (B)-(I1), (C)-(1N), (D)-(IV)
(4) (A)-(I1). (B)-(1). (C)-(1). (D)-(IV)

)
)




43.

44,

45,

ST f e fRerr ™ 8 'R d9E P g1EH
ea S a e AledH A B SEEER | 60°
A Bl OET &1 I8 AW ST & UD I
94 B W THRIGT 8 of &g A "9 I3 AT w®
@ I T TARY TTIR A g IR D
9 99 A D T BT GRATT BT (THarHYT

P PRI TR g o)

©)

SR uRuy § yeid g @@ R 2|
(1) ORER

(2) NOTgR

(3) AND &R

(4) NAND gR

= <1 dUE Ry U € e @ qffweH (A) @

wq ¥ offha frar T 8 8RR R $ FRUI(R)

& wu 7 Iifea fear R

AfPBU (A) : 30 R 170 & I TN G

gt e @ fag gfu gfeada deq st

EERe w4 | TRAY] 6@ A9 @ad TR

ST 2

HRUT (R) : URATY] § @4l g &1 gar 2|

SWRId HUEl & Aelld ¥ = Ry v et

4 9§ |E SaR g

(1) AFABAT TEY B, BRI W& &; HIROT, AGAT o
L T |

2) AMAFHAT FEY B, BRI FEI &; HIRYT, AGBAT o
AL AT TE 2 |

(3) 3AMheT FET &, BRI TeAd © |

(4) AFIDHAT TAd &, BRI TAd 2 |

43.

44,

45,

As shown below, bob A of a pendulum having
massless string of length 'R' is released from 60°
to the vertical. It hits another bob B of half the
mass that is at rest on a friction less table in the
centre. Assuming elastic collision, the
magnitude of the velocity of bob A after the
collision will be (take g as acceleration due to
gravity)

1
(1) 3Rg @ Ry
4 2
(3) 3VRg (4) 3Rg
A
B

For the circuit shown above, equivalent GATE
is:

(1) OR gate
(2) NOT gate
(3) AND gate
(4) NAND gate

Given below are two statements. One is labelled
as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : The binding energy per nucleon is
found to be practically independent of the atomic
number A, for nuclei with mass numbers between 30
and 170.

Reason (R) : Nuclear force is long range.
light of the above statements,

In the

choose the correct answer from the options
given below :

(1) (A)is false but (R) is true
(2) (A)is true but (R) is false

(3) Both (A) and (R) are true and (R) is the correct
explanation of (A)

(4) Both (A) and (R) are true but (R) is NOT the
correct explanation of (A)




TOPIC : FULLSYLLABUS

46.

47.

48.

Atomic Masses : H=1, He=4, C=12, N=14, 0=16, Na=23, Mg=24, P=31, S=32, CI=35.5,
K=39, Ca=40, Fe=56, Cu=63.5, Br=80, Ag=108, 1=127, Ba=137, Au=197, Pb=207

= QY pow Ry Y § : Th B HeH (A) R
TR B IR (R)  ®U ¥ o9 fHar T 2|

DY (A) :

gdcl Solagicsed ® AEdl § HHI & AR AR
ATAhdT 93T B |

DRYT (R) :

T & BHIROT ARAT DI H&T gl 7 AR Ul sh1g

AT H I B T vedl B |
SWRITd doT & ded #, I Ry v et A
H 999 SUgE SR BT T DY

(1) &I (A) 3R BRI (R) SHT T & 3R BRI (R),
BT (A) B HE IR B |

(2) HIF (A) 3R BRT (R) THT T & 3R BRI (R),
BHAT (A) BT ol ARAT & 2 |

() U (A) T © Afh BRI (R) 3T ¢ |

(4) < DA (A) 3R PR (R) A 2 |

CH,MgBr Hgg,”;i A—plasc cg
(1) n-

2) n-

(3) 2,3-STEARrA e

@) frmues

= Q1 s fey v ¥

DY |:

qRIEH Td WHfes s & R 10n g

A 2

DY |l :

A toNrEfFae wiifes e 2|
SWIed dUE & ded § W Ry T fApeat
H WOt SUged SR & 999 ity

(1) B | R A 1l ST TAd & |

(2) U | FE © lfhd B |1 7T 2 |

(3) BT | AT & oAfhT B Il &N B |

@) BT | IR B Il T T E |

46.

47.

48.

Given below are two statements: one is labelled
as Assertion(A) and the other is labelled as Reason
(R).

Assertion(A) :

Molar conductivity increases with decrease in
concentration for weak electrolytes.

Reason (R):

No. of ions increases and No. of ions per unit volume
decreases due to dilution.

In the light of the above statements, choose the
most appropriate answer from the options given
below:

(1) Both Assertion (A) and Reason (R) are true and
Reason (R) is the correct explanation of Assertion
(A).

(2) Both Assertion (A) and Reason (R) are true and
Reason (R) is not the correct explanation of
Assertion (A).

(3) Assertion (A) is true but Reason (R) is false.
(4) BothAssertion (A) and Reason (R) are false

CH3CHO

HoO/H* A

PCl
> B e{\:\?er

CH;MgBr C,Cis:

(1) n-butane

(2) n-hexane

(3) 2,3-dimethyle butane

(4) neopentane

Given below are two statements :
Statement I:

Nephthalene is an aromatic compound and has
107 electrons.

Statement Il :
Pyridine is an heterocyclic aromatic compound .

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both Statement | and Statement |l are incorrect
(2) Statement |is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement |l is correct
(

4) Both Statement | and Statement Il are correct.




49.

50.

51.

52,

53.

IS b 9 A ToRES faad= qeia aren
fysor 2

(1) TR+
(2) &I + TTed
(3) STt + QAT
(4) i et + et

NaOH & 97T IR 3*d A, B, C 3R D &
SEAIBROT B Il AT -10.5, -13.7, 5.9
3R —12.7kcaleq' 81 A, B, C 3R D & udar 3
g

1
2
3)
4
e | § Ry v el &1 ofem 1 F ST
gRT & S et & W ¥ e #x @R
= Ry T 99 e 1 T W

)
)

W O >» O

(
(
(
(

PHicd | Ca L]
a. fera (i) vers
b. THifeds &F (i) DR
c. WHHfeseErss (iii) SrFR—A=
d. <Tedfi= (iv) 3 dleaTs Siferea
(1) a(iii), b(i), c(ii), d(iv)
@) a(iii), b(iv), c(i), d(ii)
@) a(ii), b(i), c(iv), d(iii)
@) a(iii), b(iv), c(ii), d(i)

fr=forRaa aiffpar 9 § S (D) 1 gsg™=

PN

CN
HO' o NHy o ()LIAH,
@ o (B) () — D)
COCH COOH
NH,
1 )
NH,
NH-CH, CH-NH,

3)

)

fyafafera & @ HHIT YA IAUAT™ESD AN
PR G =:

(1) Ce* 3R Eu?
(3) Ce¥3iR Ce*

(2) Eu?3iR Ce*
4) Ce* 3R Tb*

49.

50.

51.

52,

53.

A mixture showing negative deviation from
Raoult’s law is:

M
)
©)
)

Enthalpy of neutralisation of four acids A, B, C and
D with NaOH are -10.5, —-13.7, -5.9 and —12.7 kcal
eq' respectively. Out of A, B, C and D the strongest
acid is:

1) c
@ A
@ D
“4) B

Hexane + Heptane
Benzene + Toluene
Water + Ethanol

Nitric acid + Water

Match the compounds given in column | with the
name reactions given by them in column Il and
select the correct option given below:

Column| Column Il
a. Phenol (i) Etard
b. Acetic acid (ii) Canniozzaro
c. Formaldehyde (iii) Reimer-Tiemann
d. Toluene (iv) Hell-Volhard
Zelinsky
(1) a(iii), b(i), c(ii), d(iv)
(2) adiii), b(iv), c(i), d(ii)

@) al(ii), b(i), c(iv), d(iii)
@) a(iii), b(iv), (i), d(i)

Identify the product (D) in the following reaction

sequence:

CN

H,O° oy NHy ()LiAH,
@ x B30 (i) HyO" ©

COOH COOH

NH,
M 2
NH,
NH—CH, CHANH,

©)

)

Strong reducing and oxidizing agents among the
following, respectively, are :

(1) Ce* and Eu? (2) Eu?*and Ce*
(3) Ce®* andCe* (4) Ce*and Tb*




54.

55.

56.

57.

T paw Ry T § : T BT FUA(A) 3R

TR B PRI (R) & ©U § oigcl (a1 T ||

DY (A) :

Mn3/Mn2* 7 @& foTg, ECHIM Cré*/Cr? U7 Fe/Fe* &

ECHIT El% gl ﬁ[ dgd \Hl(glcb A DRIHD %I.

BRI (R) :

Cr 3R Fe @I gere % Mn ¥ AIR1 STIIHRYT Sl T

A 1w BT B

SWIed ®eFl & wed ¥ 7 Ry Ty faeedt #

H 999 SUgE SR BT T DY

(1) HIF (A) AR BRI (R) SHT I B AR BRT (R),
BUF (A) DT FE REAT B |

(2) HIF (A) AR BRI (R) SHT I B IR BRT (R),
DU (A) DT FE ARAT T2 % |

(3) ®2H (A) IS ® fhd BRI (R) 3 T |

(4) S P (A) 3R BRI (R) 39 & |

T puw Ry U & TH B FUH(A) IR

TR B PRI (R)  ©U § oigcl (a1 T B

DY (A) :

p-<aiich ¥, 5Td g ¥ 1 SN & Al SoalcH JATRAThRoT
araver @ ReRar 9g ol 2|

DRYT (R) :

d-sdf ¥, S B9 W H A9 Ok § ol Seed
SATERIHROT Fawen o ReRar 9g o 2 |

SWIgd HYAET & dad #, A Ry 17 RAwedt
¥ 999 SUYFd SR BT IIT BN

(1) B (A) 3R BRI (R) SHT I © IR RO (R),
PHAT (A) DI TE ARAT & |

(2) B (A) IR BRI (R) T IF © 3R BRI (R),
PAT (A) Bl T ARAT eI T |

(3) BT (A) T € clfb BRI (R) A & |

(4) BT B (A) 3R IR (R) o7 2 |

1 A ¥ B9 ygfa # ke enfdea daRa

I 9 yRigEE I ?

(1) [Cr(NH,).I* (2) [Co(NH,).J**
(3) [INi(NH,)J*" (4) [Zn(NH,).F**
A= GeRIRP 3T fT 95% H,S0, R Jad 2
ST o (d = 1.834 g cm™) & HloRAT BN :
(1) 4.44 M

2) 8.88M

(3) 13.32M @) 17.78 M

54.

55.

56.

57.

Given below are two statements: one is labelled
as Assertion(A) and the other is labelled as Reason
(R).

Assertion(A) :

E° value for Mn**/Mn?* couple is much more positive
than that of E° value for Cr®*/Cr?* or Fe®*/Fe?".

Reason (R):

Mn have very high value of 3rd ionization energy in
comparision to Cr and Fe.

In the light of the above statements, choose the
most appropriate answer from the options given
below:

(1) Both Assertion (A) and Reason (R) are true and
Reason (R)is the correct explanation of Assertion
(A).

Both Assertion (A) and Reason (R) are true and
Reason (R) is not the correct explanation of
Assertion (A).

Assertion (A) is true but Reason (R) is false.
Both Assertion (A) and Reason (R) are false

)

(©)
)
Given below are two statements: one is labelled
as Assertion(A) and the other is labelled as Reason
(R).

Assertion(A) :

In p-block, when we move down in group, stability of
highest oxidation state decreases.

Reason (R):

In d-block, when we move down in group, stability of
highest oxidation state increases.

In the light of the above statements, choose the
most appropriate answer from the options given
below:

(1) Both Assertion (A) and Reason (R) are true and
Reason (R) is the correct explanation of Assertion
(A).

Both Assertion (A) and Reason (R) are true and
Reason (R) is not the correct explanation of
Assertion (A).

Assertion (A) is true but Reason (R) is false.

)

@)
()
Which one of the following is an inner orbital
complex as well as diamagnetic in nature :

(1) [Cr(NHZ)gl** (2) [Co(NH;)gl**
(3) INi(NHg)gP* (4) [Zn(NH)g>*

Both Assertion (A) and Reason (R) are false

The molarity of concentrated sulphuric acid
(d =1.834 g cm™) containing 95% of H,SO, by mass
is

(1) 4.44M
(3) 13.32M

2) 8.88M
4) 17.78 M




58.

59.

60.

61.

62.

4f- Ifdece & goigg™ @ o IR @A |
®T A9 BN

(1) n=4,1=3,M=+4,S = +1/2

@) n=4,1=4 M=-4,S=-1/2
@) n=4,1=3,M=+1,S = +1/2
@) n=3,1=2,M=-2,S=+1/2

gSgioT WaegH d§ Imx Avhh & fay 9w
Tt T 2 (R= 1.09 x107 m™)

(1) 400 nm (2) 660 nm
(3) 486 nm (4) 434 nm
CH,OH + PCIl, —»

P Mg/Dry ether ,Q HCHO SR H,O s
IISII%‘ :
(1) CH,MgCl (2) CH,CHOMgCI
(3) CH-OH (4) CH,CH,-OH

T 3 puw Ry U & TH B FUH(A) IR

TR B PRI (R) & ©U § oigcl a1 a1 B

DY (A) :

FeCl,, FeCl, ¥ SITaT WEHATSN ¢ |

DRYT (R) :

g R I 31fSd STTaRT BN HEHARTS o7

ST B ferd BT ¢

SWIFd ol & ded #, v Ry Y fawer #

H 999 SUgE SR BT T DY

(1) HIF (A) AR BRI (R) SFT I B IR BRT (R),
BUF (A) DT FE TREAT T |

(2) HIH (A) AR BRI (R) SFT I B IR BRT (R),
DU (A) DI TE ARAT TEN 2 |

(3) ®F (A) I B Afhd BRI (R) 3 & |

(4) SFT BAF (A) R BRI (R) 3 ¢ |

Th e Afifrar @1 ) ReRi® (k) o)

qoAE fRar 1 sReEfTI THIERT k = Ae

Ry w9 ¥ forar omar & afafear &) afseaar
St (E°) BT VAT @IfET gRT &Y ST Adbdl &

1 1

(1 Iogkvs? (2) logkvs @

1

@) kvsT @) kvs Joo7

58.

59.

60.

61.

62.

Which of the following sets of quantum numbers
is correct for an electron in 4f- orbital:

(1) n=4,1=3,M=+4,S = +1/2
2 n=4,1=4,M=-4,S=-1/2
3) n=4,1=3,M=+1,S=+1/2
@4) n=3,1=2,M=-2,S=+1/2
What is the maximum wave length of line of

Balmer series of hydrogen spectrum? (R=1.09 x107
m-')

(1) 400 nm (2) 660 nm
(3) 486 nm (4) 434 nm
CH,OH + PCl, >

P Mg/Dry ether Q HCHO R H,O .S
IISII is
(1) CH,MgCl (2) CH,CHOMgCI
(3) CH~-OH (4) CH,CH,-OH

Given below are two statements: one is labelled
as Assertion(A) and the other is labelled as Reason
(R).

Assertion(A) :

FeCl, is more covalent then FeCl,.

Reason (R):

Greater the charge on cation greater is covalent
character.

In the light of the above statements, choose the
most appropriate answer from the options given
below:

(1) Both Assertion (A) and Reason (R) are true and
Reason (R) is the correct explanation of Assertion
(A).

Both Assertion (A) and Reason (R) are true and
Reason (R) is not the correct explanation of
Assertion (A).

Assertion (A) is true but Reason (R) is false.

@)

@)
()
The temperature dependence of rate constant (k)
of a chemical reaction is written in terms of

Arrhenius equation, k = Ae®"RT, Activation energy
(E°) of the reaction can be calculated by ploting:

Both Assertion (A) and Reason (R) are false

1

1
(1) logkvs—; (2) logkvs log T

T

1

(3) kvsT 4) kvs @




63.

64.

65.

66.

67.

68.

[Ni(CO),], [Ni(CN),]* , [Ni(CI),)>=f=fisT & Ni &t
HHROT H: T

(1) sp? dsp?, dsp?

(2) sp®, dsp? sp®

(3) sp’ sp® dsp?

(4) dsp?sp®, sp

Ify T HT URAY] HHAIG 25 T Al d@ D
SiEdd A ® foy gEe™ srget R
(1) 3.92BM

(2) 5.92BM

(3) 2.92BM

(4) 8.92BM

10 g Uf dm* JRAT (m.w. = 60) HT FATIT TH 5%
IaTIRTd Ay @ fadad 9 gAwmERel 2|
garsaefic facta &1 oWR BN

(1) 250 g mol’
(2) 300 g mol
(3) 350 g mol’
(4) 200 g mol’

g8 Afre S e 31 g & faw akars.
W&I‘WH’&‘TW%

(1) et

(2) T

(3) BTSIoHT

(@) R

B AR AR - GHGGadr YR @R e WE
O Afre ®
(1) [Pt(NH,),Cl,]

(2) [Co(NH,),(NO,),]
(3) [Co(NH,), CL T
(4) [CoCl, (en),]
gAgErS &war @ fory

Cu* +e—Cu*_ 3R Cu* +e—Cu_,+0.15V
(aq) (aq) (aq)

(s)?

X o

3R +0.50 V A 2| E 2,0, P A
(1) 0.50V ) 0.325V

(3) 0.650V 4) 0.150V

63.

64.

65.

66.

67.

68.

Among [Ni(CO),], [Ni(CN),J*, [Ni(Cl),]*species, the-
hybridisation states of the Ni is, respectively: (At.
no. of Ni = 28) :

(1)
@)
@)
()
Calculate the magnetic moment of a divalent ion
in aqueous sotluion. If its atomic number is 25 :
(1) 3.92BM

(2) 5.92BM

(3) 2.92BM

(4) 8.92BM

A solution containing 10 g per dm?® of urea (m.w. =
60) is isotonic with a 5% solution of a non-volatile
solute. The molecular mass of this non-volatile
soluteis:

sp®, dsp?, dsp?
sp?, dsp?, sp*
sp?, sp?, dsp?
dsp?,sp?, sp

(1) 250 g mol’
(2) 300 g mol
(3) 350 g mol*
(4) 200 g mol’

The compound that does not give a blue colour
in Lassaigne's test for nitrogen is :

(1) Aniline
(2) Glycine
(3) Hydrazine
(4) Urea

The complex that can show fac - and Mer -isomer
is:

(1) [Pt(NH,), ClL,]

(2) [Co(NH,),(NO,),]
(3) [Co(NH,), CL T
(4) [CoCl, (en),]

The electrode potential for

Cu*  +e —Cu’_  andCu’, +e —Cu,are+0.15
. (o]

V and +0.50 V respectively. The value of ECU+2 /oy

will be :

(1) 0.50V (2) 0.325V

(3) 0.650V (4) 0.150V




69.

70.

7.

qur M X, B faerar v dter sdrfiere &1 aaur
gg fogar prwa ®

(1) 6y*

(2) 64y
(3) 36y°
(4) 108y°

Ry ¢ weexell @ afdfear .+ 2H, (9)
—> CH,(g) B 298 K TR AH° &T AN :
C +0, > COL(9):

graphite

A H° = -393.5KJ/mol

1
H,(9)+7 O,(g) - H,0(l)

A H® =-285.8 kJ/mol
CO,(g)*+2H,0(l) — CH,(g)+20,(9):
A H® =+890.3 kJ mol™'

mﬂgﬂwwzr}mwwzgaKwaﬁﬁFm
AH?

C grapniteyF2H,(9) — CH ()
(1) +144.0 kJ mol-

(2) =74.8 kd mol

(3) —144.0 kd mol

(4) +74.8 kd mol™

I B XAy HT Tedr g HA B
l. CH,-CH-CH,
Il. CH,—CH-OCH,

lll. CH, - CH— COCH,
@) 1> 11>
@ M>1>1
@) 1> 111>1

@ 1>1>11

69.

70.

7.

Solubility of a salt M X, in y mol dm=. The
solubility product of the salt will be:

(1) 6y*
(2) 64y*
(3) 36y°
(4) 108y°
Given

C +0, > COL(9):

graphite

A H° = -393.5KJ/mol

1
H,(9)+7 O,(g) - H,0(l)

A H® =-285.8 kd/mol
CO,(g)*+2H,0(l) — CH,(g)+20,(9):
A H° =+890.3 kJ mol™'

Based on the above thermochemical equations,
the value of A H® at 298 K for the reaction

C graphiteyT2H,(9) — CH,(g) will be :
(1) +144.0 kd mol

(2) —74.8 kd mol

(3) —144.0 kJ mol

4) +74.8kJ mol-!

The descreasing order of the stability of the ions

l. CH,-CH-CH,
Il. CH,—CH-OCH,

lll. CH, - CH-COCH,
@) 1> 11> 11
@ M>1l>|
@) 1> 11l > |

@ 1>1>1




72,

73.

74.

75.

76.

77.

fod o9fre @TIUPAC -9 2 :

HO
NH,

ON
CHO

(1) 2- TS T-4-BTSS AIAIE-5-THIHT dotfeserss
) 5-THA-4-BTg S IRIARIA-1-2-T8 8l Suifossrss
(3) 4-UHAI-2-UBTHA-5-BTSS [ARIHITA-ATSST FoiT
@) 3-THA-4-BTESIRIARIA-1-5-T8 2T fuifossrss
el @ Iffpaw wwar BRf

(1) CH,& 1.6 T4 ¥

(2) CH,® 16 U ¥
(3) CH,® 16 |IcT #

(4) CH,® 16 fciiam™ #

o dife @ sffshar 87.5 ufera goi g #
feal orgeng UR R orRf?

1
2
@)
(4)
s & TR efufpar 8g Ec WA @1 AW
RS 8§ AAG TK, ¥ W& W= © :

1
2
3
4

(1) AG°>0,K_ <1

(2) AG°>0,K_ >0

(3) AG°<0,K_ > 1

(4) AG°<0,K_ <1

frefafea & @ 5w dqa omw & s
%TIQ AMAT sp3d? GPHROT JIRAT H YT ST
(1) [CoFgl*

) [CO(NH3)6]3+

(3) [Fe(CN)g]*-

4) [CI‘(NH3)6]3+

A srew faelm @@ MX, MX @ MX, & feraar
TGS G9F © A SA@! [doadr &1 B9 @

(1) MX,>MX>M,X
(2) MX>MX,>M,X
(3) MX>M,X>MX,
(4) MX,>M,X >MX

72,

73.

74.

75.

76.

77.

The IUPAC name of the following compounds is :

HO
NH,

O,N
CHO

(1) 2-nitro-4-hydroxymethyl-5-aminobenzaldehyde
(2) 5-amino-4-hydroxymethyl-1-2-nitrobenzaldehyde
(3) 4-amino-2-formyl-5-hydroxymethyl-nitrobenzene
(4) 3-amino-4-hydroxymethyl-1-5-nitrobenzaldehyde
The maximum number of molecules are in :
(1) 1.6 gofCH,
(2) 16gofCH,
(3) 16 moles of CH,
(4) 16mgofCH,

In how many half lives a first order reaction is
completed 87.5%.

(1 1
2 2
3 3
4) 4

If the E° cell for a given reaction has a negative
value, which of the following gives the correct
relationships for the value of AG° and Keq :

(1) AG°>0,K_ <1
(2) AG°>0,K_ >0
(3) AG°<0,K > 1
(4) AG°<0,K, <1

In which of the following complex ion, the central
metal ion is in a state of sp3d? hybridisation :

(1) [CoFgl*

(2) [Co(NHg)gl**

(3) [Fe(CN)gl*

(4) [Cr(NHz)gl**

Three sparingly soluble salts M_X, MX and MX,
have same value of solubility product. Their
solubilities follows the order :

(1) MX,>MX>M,X

(2) MX>MX,>M,X

(3) MX>M_X>MX,

(4) MX,>MX>MX




78.

79.

80.

81.

s A ygad smaflenrs 2 o ygpfy A

SyaeEf 21 3 ds HuRkd S8 @1 R 2
4T A 2 :

(1) PbO,

) PbO

(3) PbSO,

(4) Pb,O,

- 1S @D qey gafad w
=l | - 1l

(A) [Ni(CI),]2 (i) 5.92B.M.

(B) [Co(C,0,),]I* (ii) 1.73 B.M.

(C) [FeFJ? (iii) 0 B.M.

(D) [Mn(CN).J* (iv) 2.82 B.M.

A W et § 98 Sor g ¢

(1) A-(iv), (B)-(iii), (C)- (i), (D)-(ii)

(2) A-(iv), (B)-(iii), (C)- (ii), (D)-(i)

(3) A(iii), (B)-(iv), (C)- (i), (D)-(ii)

@) A-(i), (B)-(iit), (C)- (ii), (D)-(iv)

Gk B 1 o 3 G S RS s S 20
g

(1) N,(g) +0,(g) > 2NO(g)

(2) 2Pb(NO,),(s)—-2PbO(g) + 2NO,(g) + 1/2 O,(g)

(3) NaH(s) + H,O(l) -» NaOH (aq) + H,(g)

(4) 2NO, (g) +20H(aq) - NO,(aq)+NO, (aq) + H,O(l)
g e o

fore 1 (@) fore 11 ()=

a. CIF, i. 9 A

b. PCI, ii. TSR

c. IF, iii. Praofia R
d. CcCl, iv. a7 TR

e. XeF v. T-3THR

(1) a-v, b-iv, c-iii, d-i, e-ii
(2) a-v, b-iii, c-iv, d-ii, e-i
(3) a-iv, b-iii, c-v, d-ii, e-i

@) a-iii, b-iv, c-i, d-v, e-i

78.

79.

80.

81.

Compound A used as strong oxidising agent is
amphoteric in nature. It is the part of lead storage
batteries. Compound A is :

(1) PbO,
2) PbO
(3) PbSO,
(4) Pb,O,
Match list- | with list-ll

List- | List- Il
(A) [Ni(CI),I2 (i) 5.92B.M.
(B) [Co(C,0,)* (ii) 1.73B.M.
(C) [FeF I (iiii) 0 B.M.
(D) [Mn(CN).I* (iv) 2.82 B.M.

Choose the correct answer from the options given
below:

(1) A-(iv), (B)-(iii), (C)- (i), (D)-(ii)

(2) A-(iv), (B)-(iii), (C)- ii), (D)-(i)

(3) A(iii), (B)-(iv), (C)- (i), (D)-(ii)

(4) A-(i), (B)-(ii), (C)- (ii), (D)-(iv)

Which of the following reaction is
disproportionation redox reaction :

(1) N,(9) +0O,(g) > 2NO(g)
(2) 2Pb(NO,),(s)—>2PbO(g) + 2NO,(g) + 1/20,(9)
(3) NaH(s) +H,O(l) > NaOH (aq) + H,(g)

(4) 2NO, (g) +20H(aq) — NO, (aq)+NO,(aq) + H,O(l)

Match List | and List Il and pick out correct
matching from a given choices :

List| (Compound) List Il (Structure)

a. CIF, i. Square planar

b. PCI, ii. Tetrahedral

c. IF, iii. Trigonal bipyramidal
d. CCl, iv. Square bipyramidal
e. XeF, v. T-shaped

(1) a-v, b-iv, c-iii, d-i, e-ii

(2) a-v, b-iii, c-iv, d-ii, e-i

(3) a-iv, b-iii, c-v, d-ii, e-i

(4) a-iii, b-iv, c-i, d-v, e-i




82.

83.

84.

85.

N,*+ 3H, — 2NH, 3ffpar & forg

-dIN
STTI'\’—d[I:r3]=3x104HIT*I o Al

dt

BT
(1) 4x10*molL-"s™
(2) 6x10“*molL's™
(3) 1.5x10*mol L' s™
(4) 3x10“*mol L's™
afaferar 4 -

CH

Dl HIH

3

I
CHj - CH-CHy -0 -CHj - CH3 +HI

frsr & @ o9 a1 dfre s9ar @
(1) CH,— CH—CH, + CH,CH,OH
I
CH,
(2) CH,—CH—CH,OH + CH,CH,
I
CH,
(3) CH,— CH—CH,OH + CH,CH,]
|
CH,
(4) CH,—CH—CH,—I + CH,CH,OH
I
CH,
39 fhar @ fou o 9= 2
5Br- (aq)+ BrO,(aq) + 6H* — 3Br,(aq) + 3 H,0(l)

Heated

d[Br,] _ 4d[H,0]
dt dt

_dBr]_-5dH]

2
@) dt 6 dt

dH"] 1d[Br,]
dt 2 dt

4 _dBros]_1d[H,0]
) dt 2 dt
DYl 1 PR BggIGARd TS & T didd A

glgglvid Hdd dXdl =

DIl : AT ARG SRISAT H BIgglo did |
SICRd

(1) ®F | IR HAF || Q! Terd & |
(2) BU | &I & A B Il TeAd & |
(3) B | AT & < BT Il HET B |
@) BU | AR B 1| ST T E |

82,

83.

84.

85.

For the reaction, N+ 3H, — 2NH,, if :

-d[N
d[NH_3]=3x104 molL’,the value of AN, 1
dt dt

would be :

(1) 4x10*mol L' s
(2) 6x10“*molL's™
(3) 1.5%x10*mol L' s
(4) 3x10“*mol L' s™
In the reaction :

CH

3

I
CH3 - CH-CH2 -O.CH2 _CH3 +H| Heated

which of the following compounds will be formed
(1) CH,-~CH-CH, + CH,CH,OH
I
CH,
(2) CH,—CH-CH,OH + CH,CH,
I
CH,
(3) CH,—CH-CH,OH +CH,CH,(I
|
CH,
(4) CH,—CH-CH,-I+CH,CH,OH
I
CH,
For reaction
5Br- (aq)+ BrO,(aq) + 6H" — 3Br,(aq) + 3 H,0(l)
The correct relation is :

d[Br,] 4d[H,0]
dt dt

CdiBr] -5dH']
@ dt 6 dt

d[H’] _ 1 d[Br,]

® "o T2 a4t

_d[Bro;]_ 1d[H,0]
dt 2 dt

Statement-l : Copper liberates hydrogen from a dilute
solution of hydrochloric acid

)

Statement-Il : Hydrogen is below copper in the
electrochemical series.

(1) Both Statement | and Statement Il are incorrect
(2) Statementlis correct but Statement Il is incorrect

(3) Statementlisincorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct.




86.

87.

88.

89.

90.

KMnoO, 3iffaafer®d oFe & |1 |HIPRYT JTER
arffrar exar @

2MnO,- + 5C,0,* + 16H* — 2Mn?* + 10CO, + 8H,0.
IE1, 0.1 M KMnO, HT 20 ml TRT&R © :

(1) 120 mL &7 0.25 M H,C,0,

(2) 150 L &T10.1 M H,C,0,

(3) 50 ML &T10.1 M H,C,0,

(4) 50 mL %10.2 M H,C,0,

gfe gregTaRe WX ATseiwd 9, sfefiwT
g R e arwzs N A A= 3.0x102
M, 4.2x10 M 3R 2.8x10-* M HY: 8| 95 U &
1 afifrar & W= ReRie &1 @9 8N -

N,(9) + O,(g) = 2NO(g)

(1) 1.732

) 0.622

(3) 0.335

(4) 0.104

AR, NaCl, HCI 3R NaA @& T #91:126.4, 425.9
3R 100.5 S cm? mol” A 0.001 M HA B ATeTbT
5x10° Scm™ ¥, dI HA ® fadges @Y f&f «ar
87

(1) 0.25

) 0.50

@3) 0.75

@) 0.125
Pid | P Biaqll § e iR Ry 11 s &7
STENT IS T8l SR g

i | HicH Il
A. 3d-HHHTT @eTl 1. faRa¥ (z = 58)
B. 4d-HHAT & 2. Ufdefa (z = 89)
C. 4f-3[aRe®  HshHoT 3. s (z = 30)
ZLeEll
D. 5f-37TAR®  HHHIT 4. AfeTH (Z = 39)
CECEll
Code
A B C D
(1) 1 2 3 4
@ 1 2 4 3
@ 3 4 2 1
@4 3 4 1 2

YA SET § Rawia & We a8 | e
foar < Todar 2 :

86.

87.

88.

89.

90.

KMnO, reacts with oxalic acid according to the
equation,
2MnO, +5C,0 > +16H* — 2Mn* +10CO, + 8H,0.
Here, 20 mL of 0.1 M KMnO, is equivalent to :
(1) 120mLof 0.25MH,C.0O,
(2) 150 mLof 0.1 MH,C,O,
(3) 50 mL of 0.1 MH,C,O,
(4) 50mLof0.2MH,CO,
At equilibrium, the concentration of N, = 3.0x10°3
M, O,=4.2x10"M and NO =2.8x10-* M in a sealed
vessel at 800 K. Value of Kc will be :
N,(9) + O,(g) = 2NO(g)
(1) 1.732
(2) 0.622
(3) 0.335

4) 0.104

Am for NaCl, HCI and NaA are 126.4, 425.9 and
100.5 S cm? mol-' respectively. If the conductivity
of 0.001 M HA is 5x10% Scm™', degree of
dissociation of HAis

(1) 0.25

(2) 0.50

(3) 0.75

(4) 0.125

Macth the Column | with Column Il and select the
correct answer using given codes.

Column i

1. Cerium (Z = 58)

2. Actinium (Z = 89)
3.Zinc (Z2=30)

Columnl

A. 3d-transition series

B. 4d-transition series

C. 4f-inner transition
series

D. 5f-inner transition 4. Yttrium (Z = 39)

series
Code

A B C D
(1 1 2 3 4
21 2 4 3
(3) 3 4 2 1
4) 3 4 1 2

Glycerol can be separated from spent-lye in soap
industry by :

(1) chromatography

(2) sublimation

(3) fractional distillation

(4) distillaltion under reduced pressure




TOPIC : FULLSYLLABUS

91.

92.

93.

94.

T - @ | gALl BT gAfea
=T -l = -l

a. Rrs¥ (i) RSPBTISCT

b. Tfeu=H (i) RorrRTH

c. I (iii) foravac

d. ARGERT (v) A

fau U el § 4 9d) SRk &1 TIT BN
a b c d

(1) (i) @iy @) W
() (i) (i) (v) (i)
(3) (i) (i) (v) (i)
(4) (i) v (@) )

UHET A¥ver § yeprer AfAfhar &1 Sag ®:
(1) ATP,NADPH3fRO,

(2) ATP,NADPH, O, 3R H,0

(3) ATP,NADPH , 3R H,0

(4) ATP,NADPH, 3R CO,

i oo @ wEiaRen | § RE @
arer giAe iR wgRftaw ufeq war 21 w®

gftear fo=falRag § @ &9 9 s@wenr & SRE
qr ®

(1) dHEH

Q) ==

3) d=EH

(4) ST

7S § QET & §We § 98 dYdl 3 ugee
PN

a. ISR ¥R KIS FEam 2|

b. W9 YR Uced ¥ ISl & | I sUUCe e
=

c. HMHUsWhY {L\%Sc'i ff SECIRNIG] %\’I

d. UTNUSThYd Hex § W) ol © |

e. ORE N qwq B owarg # AT ok @1 e
=

fau U el § 4 9d) SR &1 TIT BN

(1) &g (a), (), (d) 3 (e)

(2) ®d (a), (b), (c) 3R (e)

(3) Dde (a), (b) 3R (c)

(4) Ddet (b), (c) 3R (d)

91.

92,

93.

94,

Match List -1 with List-Il :

List -1 List - I
a. Cedrus (i) Pteridophyte
b. Adiantum (i) Gymnosperm
c. Sphagnum (i) Liverwort
d. Marchantia (iv) Moss

Choose the correct answer from the options given
below:

a b c d
(1) (i) @iy @ (W)
() (iii) (i) (iv) (i)
(3) (i) (i) (iv) (i)

(4) (i) (iv) @iy @)
The products of light reaction in photosynthesis
are :

(1) ATP,NADPHand O,

(2) ATP,NADPH, O,and H,0

(3) ATP,NADPH , and H,0

(4) ATP,NADPH,and CO,

In prophase | of Meiosis, chromosomes start pairing
together and synapsis takes place. This process

occurs during which of the following stage:
(1) Pachytene

(2) Diplotene

(3) Leptotene

(4) Zygotene

Identify the correct statements related to the
androecium in the flower

a. The sterile stamens are called staminodes

b. When stamens are attached to petals they are
called epipetalous

c. Monoadelphous is seen in China-rose
d. Polyadelphous is seen in Pea

e. Variation in the length of filaments is seen in
Mustard

Choose the correct answer from the options given
below:

(1) (a), (c), (d)and (e) only
(2) (a), (b), (c)and (e) only
(3) (a), (b)and (c) only
(4) (b), (c)and (d) only




95. fr=ifefad & & @19 |1 ®u= garea @RI & | 95. Which of the following statements about facilitated

fog wre@ 2 2 diffusion is incorrect :

(1) fereet! @ fa9y WIE=a 39 Ufdhar # WA HRall (1) Special proteins of the membrane help in this
= process

2) @ﬂaﬁ BT T ATsdl YaurdT & & faem § qrar (2) Movement of molecule are the occurs along the &
ST 2 | concentration gradient

(3) SWJSﬁ BT AT AT YO & fAURId IrT SITem (3) Movement of molecule are the occurs against the
= concentration gradient

(4) ATP 39 Ufshan & foru amawas <78 2 | (4) ATPis not required for this process

96. TIHA Ed T’ﬁ ® g<d ¥ 98 U B e 31| 96. Identify the correct set of statements with regard

UgdAE PN to properties of humus

(a) |&A Sifas foham & forg T UfoRel 8em © (@) Highly resistant to microbial action

(b) TER—TT & TARGH ueref (b) Dark-colored amorphous substance

(c) 3RS wWTel SRIAT BT oI 3aTe (c) End product of detritus food chain

(d) Reservoir of nutrients

(d) U¥h dcdi BT YUSR
(e) 3ruEe H 9gd <ol | ST 2 | (e) Undergoes decomposition very fast
Ry T et ¥ 4 9@ SR w T W

(1) ®ad (a), (b) AR (d)

Choose the correct answer from the options given

below: :

(1) (a), (b) and (d) only

(2) ®de (a),(b)and (e) ) (a),(b)and (e) only
(3) ®ad (a) R (b) 3) (a)and (b)only
(4) ®ad (b), (c) 3R (a) 4) (b),(c)and (a)

97. SEUMIfAT & |4 # WA HAT BT 999 P\ | 97. Select the correct statements with respect to

(@) & S BT IEUMTET Hil 3R I8 b | SATaT pleiotropism
IRy T JIfad &l 2 | (@) A gene is said to be pleiotropy if it affects more

than one trait

(b) THATEADICTIRAT U EIHTIAT DT SQTeXT gl (b) Phenylketonuria is an example of pleiotropy

(c) Uh IRl W&l Udh & U 9§07 WN Yetled &Nt (c) A condition where one gene has several alleles is
2SI FHEarh © | referred to as pleiotropism

d) T® ICEILEGI ag;rq‘rcﬁ BET SIdl & 3N Jga (d) Atraitis said to be pleiotropic if several genes control
AR S ®1 I8 Faf=a a=ar ¢ | it

fw o R L T pmep——— E:I::vs:e the correct answer from the options given

(1) B (a) 3R (b) (1) (a)and (b) only

(2) B (a) 3R (d) (2) (a)and (d)only

(3) B9 (a), (b) AR (c) (3 (a), (b)and (c) only

@) @ad (b),(c) 3R (d) @) (b) ,(c)and (d) only




98.

99.

100.

101.

Shfda fafea s o & e ok i
BN @ AT B @l gal 8, §B @ uRRufiE
# Mo @ gwar g W aR 9l 81 98
HeAl HEAR @ :

(1) g: favres

2) yRuea

3) favreH

@) fAfdes

e ITHUT HI TIT BN

A. T TN . 98D Uare
B. TR Il. SRYHTS

C. SR lll. JMETTH A
D. IRICHTS IV, 379

(1) A-lll, B-I, C-Il, D-IV
2) A, B-Il, C-Ill, D-IV
(3) A-IV, B-Il, C-llI, D-I
(4) A-ll, B-Ill, C-I, D-IV
frafafad § @ @9 A1 tH AUcUS ATERTE
gerel &1 T ?:
(1) 379 e & forg aRad= & T=1a=Tg &) 8
=1y |
2) U W HUSH & GV & HY IfHATT BT
=1y |
(3) U Ufrpfcr 99T H |eT BT =2 |
@) AN IR AREHS ©U W @i BT 91T |
= R T I FHoH €

DY -1 :

“2—> UH YHR BT WBC IR 9eTd BT

“

DY -1l :

."
‘ — & UHR BT WBC AR & & Iha

ﬁww%ﬂ

o Ry Rfeed 4 ¥ ¥ Sar g
1) QF1 B | 3R B 1| TAd B |

(2) FAT | WL TR B Il T & |
(3) HUT | TTAd & TR BT || F2l 7 |
@) T BAF | 3R BUF || LT B |

98.

99.

The living differentiated cells, that lost the capacity
to divide any more, can regain the capacity of
division under certain conditions. This
Phenomenon is termed as :

(1) Redifferentiation
(2) Maturation

(3) Differentiation
(4) Dedifferentiation

Select the correct match

A. Lemongrossoils 1. Polymeric substance

B. Rubber Il. Terpenoids
C. Diterpene lll. Essential oils
D. Carotenoids IV. Drugs

(1) A-lll, B-I, C-II, D-IV
@) A, B-Il, C-lll, D-IV
3) A-IV, B-II, C-lll, D-I
@) A-ll, B-Ill, C-I, D-IV

100. Which one of the following is not a criterion of

101.

genetic material :

M

Should not provide the scope for changes for
evolution

)

Should be able to express itself in the form of
Mendelian character

©)
)

Given below are two statements

Should be able to generate its replica

Should be stable chemically and structurally

Statement I:

“ — A type of WBC and phagocytic cell

.-

Statement Il :

b 4 "
a9 A type of WBC and help in blood

clotting.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statementlis correct but Statement Il is incorrect
(3) Statementlisincorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct




102. frr=ferfeg & @ &9 91 weRe fUfteer &1

103.

104.

105.

AT SAUd ®UMRET 3T @il & 9RomA
P WU ¥ Fodex At
S‘ﬁ(mﬁﬁ)aﬂfﬁﬁme@ﬁﬁﬁ
S-E (AU F ) + R-ILA ST — I8 H soldcs
eﬂﬁTGﬂﬁH

SE » I8 H soiaes — gl ga

R-?ﬁ_rl - ﬂc\%ﬁﬁ?@@a ﬂﬁTGﬁﬁH
for=ifafag & 9 &9 WRE Ao B IFId
I %:

(a) AR &fay 3R fawosq

(b) 3fI—<re

(c) fac=h Sfar amemsor

(@) FIR

() wguf

A T RAead § 9 98 SR & 999 N
(1) (a), (c) 3R (d) 2 (b), (c) 3R (d)

(3) (a), (b)3R(c) @) (a), (d)3R (e)

= Q@ wua g g € -

DA |I:
AT U@ UieiiRa dieiiarsed 2
DA |l :

AIelIST BT JTd 3T Teehlol M) BT © |

SWIFd oMl 3 ded § 4 Ry ¢ At &
H waifte Suged SR BT 999 DIY

(1) U | FEI B T 2 1| Te1d 7 |

2) HUF | AT & AfhT HA 1l & B |

3) B | R FHAF Il I FET B |

(4) B | AR HAF Il I TA & |

i@ Ry T Q1 woA €

DY -1 :

Sirg arRerdt srerar U 21Rer vd U Uil & dra
BT AR B |

DY -l :

Sirel gRT T & forg Ul SfRa aat &1 Sy fahar
ST 8 | ST8l SIS 3MTelt &l B R ¢ |

o Ry Reea § ¥ 98 S g
(1) SF BUF | 3IR HAF |1 7Teld 2 |

(2) FAT | WL TR BT Il TeAd 2 |
(3) PUT | TTAd & TRy BT || H2l & |
@) T BAF | 3R BUF || LT B |

102. Which one of the following experiments of

103.

104.

105.

Frederick Griffith resulted in the discovery of
bacterial transformation :

M

S-strain(heat-killed) — injected into Mice — Mice
lived

(2) S-strain (heat killed) + R-strain(live) — injected
into Mice — Mice died

@)
)
Which of the following come under the
"EvilQuartet :

(a) Habitat loss and fragmentation

S-stain — injected into Mice — Mice died

R-strain — injected into Mice — Mice lived

(b) Over-exploitation

(c) Alien species invasion
(d) Mortality

(e) Competition

Choose the correct answer from the options given
below:

(1) (a),(c)and(d) (2) (b),(c)and (d)

(3) (a), (b)and(c) (4) (a),(d)and (e)

Given below are two statements:

Statements-I:

Cellulose is a polymeric polysaccharide

Statement-ll :

The building blocks of cellulose are glucose molecules.

In the light of the above statements , choose the
correctanswer from the options given below:

(1) Statements-lis correct but statements-Il is incorrect

(2) Statements-lis incorrect but statements-Il is correct

(3) Both statements-I and statements-Il are correct

(4) Both statements-I and Statements -1l incorrect
Given below are two statements

Statement I:

Joints are points of contact between bones or between
bones and cartilages.

Statement Il :

Force generated by the muscles is used to carry out
movement through joints, where the joint act as a
fulcrum.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statementlis correct but Statement Il is incorrect
(3) Statementlisincorrect but Statement Il is correct
(4) Both Statement | and Statement |l are correct




106.

107.

108.

109.

frfaRea @ ®wuw Ry v € o sifemeE
(A) 9§ 3R TET HRY (R) ¥ oldcs ©
AMBHYT (A) : TEPYD g B Ifg FEGAT
Ao & BROT Bl B
DR (R) : TR [I9OH & AR e Y
FHEd & 3R Ig 3Mafe enfc &1 v ol @
) (A) eI 8 W] (R) Wl 78l &
2) (A) 98I T8I & g (R) el ©
(3) BHI (A) 3R (R)FET & 3R (R), (A) DI A2l AR
BT 2 |
4) TFT (A) 3R (R) W& & 3R (R), (A
R &1 HRT 2 |
Jef wfedt feaa afpaar & RO g
g €
(1) Ul frsaras
@ fgfe frsaas
@) MY farsaras
4) 31TICR’II ICH-I\RIICICb

S Siffa @ afdaal @ 98 9= 2 o 9 TS
IJHAES & SR A BIsPY Hel AR T
T & O O B

) BT Aol

A

(1) FF=T (2) SaATaH
3) Tyt @) JMYIRIT
| >\ gE N P gAfed By
= | GGl
(a) fEATmiferar () ST SUTIE
Ffe e girgH
T WTT BT &
Shifes TSt
TATHIT DI TSR
H qgoAdr 2
(b) srS+ Rieg™ (i) fofT—er=1 arywrd
PR, Yad Fh<-
EIRCRIE]]
c) fhsat dIeFRAT (i) X-TorgH &
arfaRaa gfaferfy
P SuRefY
d) FATSTHeex (iv) TORIS =T 2137
R arfaRaa gfaferfa
fay 1w el § 9 98 SaR BT =TI BN
@ () (o (d)
M @ & @ (iii)
2 @v) (i) @) (iii)
@) (i) (i) () (iv)
@) () @iy (i) (iv)

106.

107.

108.

109.

Given below are two statements : One is labelled
asAssertion (A) and the other is labelled as Reason
(R)

Assertion (A): The growth of multicellular organism is
due to mitosis

Reason (R) Mitosis is also called as reductional division
and it offers genetic stability

In the light of the above statements choose the
correct answer from the options given below :

(1) (A) is correct but (R) is not correct
(2) (A)is not correct but (R) is correct

(3) Both (A) and (R) are correct and (R) is the correct
explanation of (A)

Both (A) and (R) are correct and (R) is not the correct
explanation of (A)

()

Axillary buds are derived from the activity of :
(1) Lateral meristem

(2) Secondary meristem

(3) Apical meristem

(4) Intercalary meristem

The process of individuals of the same species that
have come into the habitat from elsewhere during
the time period under consideration is referred as::

(1) Association (2) Emigration

(3) Competition (4) Immigration

Match List-l with List-II :
List-I

(a) Haemophilia (i)

List-ll

Inborn error of
metabolism which
lacks an enzyme
that converts
phenylalanine into
tyrosine

Sex-linked recessive
disorder defect in
blood coagulation

(b) Down's Syndrome

Presence of
additional copy of X-
chromosome
(44+XXY)

(iv) Additional copy of

chromosome
number 21

(c) Phenylketonuria

(d) Klinefelter's
Syndrome

Choose the correct answer from the options given
below:

(@ ()
M @ (v
@ @) (i)
3) (i) (i)
) () (ii)

(d)
) (i)
i (iii)
i) (iv)
(iv)
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Genetically engineered insulin for human is
produced from :

(1) Escherichia coli

(2) Pseudomonas putida

(3) Bacillus thuringiensis

(4) Rhizobium meliloti

Removal of apical dominance by decapitation is
utilised for:

(1) Suppressing the activity of intercalary meristem
(2) Early senescence

(3) Hedge making

(4) Preparing weed-free lawns

What will be the ploidy of endosperm of a seed
produced after crossing tetraploid female plant
with tetraploid male plant :

(1) Pentaploid

(2) Hexaploid

(3) Diploid

(4) Triploid

Which one of the following structures is haploid in
its ploidy level :

(1) Zygote

(2) Microspore Mother cell

(3) Protonemal cell of a moss

(4) Primary endosperm nucleus in dicot

Match List-l with List Il

List-I List-ll
(@) ETS complex-I (i) Cytbc,
(b) ETS complex-li (i) Cyta,a,and?2
copper centres
(c) ETS complex i (i) NADH
dehydrogenase

(d) ETS complex-IV (iv) Ubiquinone and

FADH,

Choose the correct answer from the options given
below:

@ (® (( (@
(1) (i) @i v (i)
@ @) (i) (i) (i)
@) Gy i) ) )
@) (i) (v) () (ii)
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Species Area relationship is described by the
following equation.

logS=logC+Zlog Awhere Zis: :

(1) Area

(2) Speciesrichness

(3) Slope of the line

(4) Y-intercept

Choose the mismatched pair of leaf character with
its example :

(1) Palmately compound — Alstonia

(2) Alternate Phyllotaxy — Chinarose

(3) Leaftendril—Pea

(4) Opposite phyllotaxy — Calotropis

Which of the following is the correct equation of
exponential growth? :
(1) N, =N e
(2) N, =N, e™
(3) N,=N, e
(4) N,=N, e"
The cerebral cortex contains

(1) Sensory area

(2) Motor area

(3) Association area

4) Al

Identify the cytochrome which acts as a mobile

carrier for the transfer of electrons between
complex lll and IV :

(1) Cytochrome a
(2) Cytochrome a,
(3) Cytochrome bc,
(4) Cytochromec

Which of the following plants possess the
placentation of ovules borne on central axis with
no septa:

(1) Lemon
(2) Pea
(3) Chinarose

(4) Primrose
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Select the correct option for nervous system of
hydra

(1) Well developed fore brain

(2) Well developed hind brain

(3) Composed of network of neurons

(4) Corpus callosum

The ratio of carbon dioxide fixation between C,
plants and C, plants is :

() 2:1
@ 2:3
@) 1:1
@) 1:2

Which of the following bond is formed as a result
of reaction of carboxyl group of one amino acid
with amino group of other amino acid with
elimination of water :

(1) Phosphodiester Bond

(2) Hydrogen Bond

(3) Glycosidic Bond

(4) Peptide Bond

Following crops have been extensively cultivated

in CO, rich atmosphere for higher yield: :
(1) Sugar beet and Cabbage

(2) Carrots and Tomatoes

(3) Wheat and Sugar beet

(4) Tomatoes and Bell pepper

Given below are two statements: One is labelled
asAssertion (A) and the other is labelled as Reason
(R).

Assertion(A) : In rDNA technology non-recombinants
transformed bacteria grow on the medium containing
ampicillin as well as medium containing tetracycline

Reason (R): Recombinant plasmids does not contain
the foreign gene of interest.

M
)
@)

(A) is correct but (R) is not correct
(A) is not correct but (R) is correct

Both (A) and (R) are correct and (R) is the correct
explanation of (A)

(4)

Both (A) and (R) are correct but (R) is not the correct
explanation of (A)
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@) |+

126. Identify the fungi which do not belong to the group
of other fungi among the following :

(2) Puffballs
(4) Bracket Fungi
127. Select the correct match

128.

(1) Sac-fungi

(3) Mushrooms

(A) Haemophilus
influenzae

(B) Plasmodium
falciparum

(C) Wuchereria
bancrofti

(D) HIV

(1) A-IV, B-lll, C-Il, D-I

(2) A-lll, B-ll, C-IV, D-I

(3) A-l,B-II, C-lll, D-IV

4) A-IV, B-l, C-II, D-1lI

Select the correct match

(1) A, B, Conly
(2) A, B, D only
(3) B, C, D, only
4) Al

Bacteria

Protozoa

. Aschelminthese

. Virus

Papaver somniferum

Cannabis sativa

Datura

Abused by some sports
person
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Which of the following set represents the correct
labelling of A,B, C and D with respect to the given
diagram :

(1) A- Seed Coat, B- Endosperm, C- Cotyledon,

D -Hypocotyl
(2) A -Seed Coat, B- Scutellum, C- Endocarp,

D -Mesocarp

(3) A- Seed Coat, B- Scutellum, C- Micropyle,

D -Endocarp
)

Which of the following is not a character of
collenchyma tissue? :

M

A-Pericarp, B - Coleoptile

They provide mechanical support to the growing part
of the plant

)

They occur in layers below epidermis in
dicotyledonous plants

@)

They consist of cells with thick corners due to
cellulose deposition

)
The construction of the first recombinant emerged
from the possibility of linking a gene encoding
antibiotic resistance with a native plasmid of which
of the following organism?:

They are usually dead and without protoplasts

(1) Escherichia coli

(2) Bacillus thuringiensis

(3) Salmonella typhimurium
(4) Agrobacterium tumefaciens

Assuming that fur colour of an animal is dark,
range of colour shade and white. A cross is made
between a male (AABBCC) with dark fur colour
and a female (aabbcc) with white fur colour. What
would be the fur colour of F, generation?:

(1) Allintermediate colour
(2) Range of colour shade
(3) Alldark colour
(4) All white colour
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Which of the following disorders represents
decrease in respiratory surface due to damaged
alveolar walls :

(1) Hypocapnia

(2) Bronchitis

(3) Asthma

(4) Emphysema

The hormone releasing IlUDs among the following
are :

(@) Multiload 375
(c) Progestasert
(e) Vaults

Choose the most appropriate answer from the
options given below :

(1) (a)and(d) only
(2) (c)and (e) only

(3) (a)and (b) only

@) (b

In Drosophila, the genes for colour of body and
colour of eyes are situated on :

(b) LNG-20
(d) Lippe's loop

) and (c) only

(1) both the sex chromosomes

(2) autosome chromosomes

(3) Y-chromosome

(4) X-chromosome

Which of the following is correct statement :

M

Actin and regulatory proteins are located in thin
filament.

@

Z-lines and myosin (thick) filament to the ends of
the sarcomere.

@)
)

Given below are two statements :

Sarcoplasmic reticulum stores acetylcholine.

Myosin cross bridges contain calcium binding sites.

Statement - | :

Membrane-bound organelles of the endomembrane
system coordinate cellular functions.

Statement -1l :

Mitochondria and chloroplasts are not considered a part
of the endomembrane system.

In the light of the above statements, choose the
mostappropriate answer from the options given
below :

(1) Statement- | is correct but Statement - Il is incorrect
(2) Statement-|isincorrect but Statement- Il is correct
(3) Both Statement - | and Statement - Il are correct

(4) Both Statement - | and Statement - Il are incorrect
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With respect to nucleosome, Which of the

following statements is incorrect :
(1)
@)

Nucleosome contains 120 bp of DNA helix

Nucleosomes are seen as 'beads' on string' under
Electron Microscope
@)

DNA is wrapped around positively charged histone

octamer to form nucleosome.

)

In a reaction catalyzed by an enzyme, which of

Nucleosome is the repeating unit of chromatin

the following statements is correct :

M

Enzymes decrease the activation energy for
formation of transition state.

@)

Enzymes make transition from substrate to
product more difficult.

©)

Enzymes increase the activation energy for
formation of transition state.

4)

Enzyme-substrate complex formed during a

reaction lasts for a very long time.

Which one of the following hormones reduces the
blood pressure :

(1) Antidiuretic hormone

(2) Atrial Natriuretic factor

(3) Aldosterone

(4) Angiotensin-II

Endemism refers to:

(1) Speciesrichness

(2) Species evenness

(3) Species confined to that region

(4) Species diversity

In a cell, the separation of DNA strands is brought

about by the enzyme DNA helicase, whereas in

PCR, the separation of DNA strands is due to :
(1) Hightemperature

(2) Two sets of Primers

(3) Taq DNApolymerase

(4) Deoxynucleotides
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A low frequency recombination indicates that the
genes are: :

(1) Located far apart from each other
(2) Located close to each other

(3) Notlinked

(4) Loosely linked

How many Y-chromosomes are present in the 2nd
polar body in human beings :

(1) 01
(2) 00
3) 23
4) 02
A population with finite resources shows alogistic

growth curve where the correct sequence of events
will be :

M

Stationary phase — Acceleration phase —» Lag
phase — Asymptote

@
@)

Acceleration phase — Deceleration — Asymptote

Acceleration
Stationaryphase

phase — Lag phase —

(4) Lag phase — Acceleration phase — Deceleration
— Asymptote

Air bladder is found in :
(1) Osteichthyes

(2) Aves

(3) Cyclostomata

(4) Chondrichthyes

Which of the following hormones are secreted in
women only during pregnancy :

(a) Relaxin

(b) Oxytocin

(c) hCG

(d) hPL

(e) Progesterone

Choose the most appropriate answer from the
options given below :

M
@)
©)
)

(c), (d) and (e) only
(b) and (e) only

(b), (c) and (d) only
(@), (

a), (c)and (d) only
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In the regulation of respiration, a chemosensitive
area adjacent to the rhythm centre in the medulla
region of the brain, is highly sensitive to :

(1) HCO,
(2) CO,
) O,
4) N,
Select the incorrect match
(1) Dosaand idli -
(2) Citric acid -

Fermented by bacteria
Produced by multicellular
organism

(3) Acetic acid — Produced by unicellular
organism

(4) Cyclosporin-A — Produced by unicellular
organism

Which of the following types of epithelium lines
the walls of blood vessels ?

(1) Ciliated epithelium

(2) Squamous epithelium

(3) Cuboidal epithelium

(4) Columnar epithelium

Select the correct sequence of events occurring
during Prophase-I of Meiosis-I

(@) Nuclear envelope breakdown

(b) Synaptonemal complex formation

(c) Compaction of chromosomes

(d) Terminalisation of chiasmata

(e) Crossing over

Choose the most appropriate answer from the
options given below:

(1) (€) > (b) - (&) » (d) —» (a)
2 (c) > (@) — (b) » (d) > (e)
B) (b) > (c) — (a) » (d) > (e)
@) (c) > (@) — (b) » (e) » (d)

In human three layers give rise to all
tissues/organs in adults, these three layers are

(b) Endoderm
(d) Middle layer
(2) a, b, d
4)a,cd

(a) Ectoderm
(c) Mesoderm
(1) a, b, c
3) b,c,d
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Inadequate supply of oxygen to heart muscles
leads to a symptom of acute chest pain. This
disorder of the circulatory system is identified as:

(1) Angina pectoris
(2) Cardiac arrest
(3) Heartfailure

(4) Coronary Heart Disease

Given below are two statements:One is labelled a
Assertion (A) and the other is labelled as Reason
(R).

Assertion (A):

With the help of several ommatidia, a cockroach can
perceive several images of an object, i.e.,mosaic vision
Reason (R):

Mosaic vision gives NO sensitivity but more resolution

In the light of the above statements, choose the
most appropriate answer from the options given
below:

(1) (A)is correct but (R) is not correct

(2) (A)is not correct but (R) is correct

(3) Both (A)and (R) are correct and (R) is the correct
explanation of (A)

(4) Both (A)and (R) are correct but (R) is not the correct
explanation of (A)

Given below are two statements:

Statements-l: Amphibians and mostly reptiles have a
3-chambered heart with two atria and a single ventricle,
and oviparous in nature

Statements-ll: Crocodiles possess a 4 chambered
heart with two ventricles and two atria: and viviparous in
nature

In the light of the above statements, choose the
most appropriate answer from the options given
below:

(1) Statements-lis correct but statements-Il is incorrect
(2) Statement-lis incorrect but statements-Il is correct
(3) Both statement-l and statement-Il are correct

(4) Both statement-l and statements-Il are incorrect

Which one of the following is not an Assisted
Reproductive Technology (ART) used by childless

couples to have children?
(1) ZIFT
(2) IUD
(3) IVF
4) ut
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Immuno-suppressants are administered to burn
patients or during organ transplantation to

suppress:
(1) Innate immunity

(2) Cytokine storm

(3) Humoral immunity

(4) Cell-mediated immunity

Ear wax secreting cells have which type of
epithelium?

(1) Columnar epithelium

(2) Exocrine glandular epithelium

(3) Compound epithelium

(4) Endocrine glandular epithelium

Arrange the following male sex accessory ducts
in the correct sequence for the transport of sperms

from the tests

(a) Epididymis

(b) Ejaculatory duct
(c) Vasa efferentia
(d) Rete testis

(e) Vasdeferens

Choose the most appropriate answer from the

options given below:
(1) (d), (@), (c), (e), (b)

2) (d),(c),(e),(a),(b)

@) (d),(c), (@), (e), (b)

4) (d),(e), (@), (c), (b)
Genetic Drift occurs due to :
(1) Natural selection

(2) Sudden population migration
(3) Continuous gene migration

(4) Mutation
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161. Normal sleep-wake cycle in a human body is

maintained by the secretion of:
(1) Thyroid gland

(2) Thymusgland

(3) Pinealgland

(4) Pituitary gland

162. An intestinal hormone that stimulates the pancreas

to release a watery secretion that is rich in

bicarbonate ions:

(1) Cholecystokinin

(2) Gastric Inhibitory Peptide
3 TCT

(4) PTH

163. Terrestrial adaptations necessitated the production

of:

(1) Highly toxic nitrogenous wastes like urea and uric
acid

(2) Lesser toxic nitrogenous wastes like urea and uric
acid

(3) Lesser toxic nitrogenous wastes like ammonia and

urea

(4) Highly toxic nitrogenous wastes like ammonia and

urea

164. Given below are two statements:

Statement - I:

Pyramid of energy is always upright and is the most
efficient

Statement-Il:
Pyramid of biomass in sea is generally inverted.

In the light of the above statements, choose the
most appropriate answer from the options given
below:

(1) Statements-l is correct but statement-Il is incorrect
(2) Statements-lis incorrect but statement-Il is correct
(3) Both statement-l and statements-Il are correct

(4) Both statement-l and statement-Il are incorrect
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Identify the properties of a good vector used in
rDNA technology

(a) Itshould have origin of replication supporting a high
copy number

(b) It should have preferably more than '2' recognition
sites

(c) The restriction sites in vector should be in the
antibiotic- resistant genes

(d) It should have suitable marker genes
(e) It should be easy to isolate and purify

Choose the most appropriate answer from the
options given below:

M
)
©)
)

Select the correct match regarding adaptive

a), (c) and (e) only

c

a

(

(d) and (e) only
(b) and (c) only
(

),
),
),
), (¢), (d) and (e) only

radiation of Australian marsupials corresponding

to placental mammals

(1) Numbat — Flying Squirrel
(2) Tasmanian Wolf — Bobcat
(3) Marsupial mouse — Mole
(4) Spotted Cuscus -  Lemur
Match List - | with List - Il
List -1 List - Il
(a) Chromoplasts (i) Proteins

(b) Amyloplasts
(c) Elaioplasts

(d) Aleuroplasts

(i) Oil and fats
(iii) Starch

(iv) Carotene

Choose the correct answer from the option given

below

(@ (b (©
i) (iii)
ii) (ii)
i) (iii)
ii) ()

(d)
(ii)
(i)
(i)
(ii)
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Which one of the following features are not true
for chordates :

(@) Heartis dorsal.

(b) Pharynx is perforated by gill slits.

(c) Central nervous system is ventral solid and single.
(d) post-anal tail is present.

(e) Notochord is present.

Choose the most appropriate answer from the
option give below :

(1) (e)only (2) (a), (d)and (c) only
(3) (b)and (c)only (4) (a)and (c)only

Give below are two statements : one is labelled
as Assertion (A) and the other is labelled as Reason
(R).

Assertion (A) : In human beings, insulin is synthesized
as a pro-hormone which needs to be processed before
it becomes fully mature and functional.

Reason (R) : The extra stretch of C-peptide is to be
removed from A-peptide and B-peptide chain of insulin.
In the light of the above statements, Choose the
most appropriate answer from the option given
below :

M
)
©)

(A) is correct but (R) is not correct
(A) is not correct but (R) is correct

Both (A) and (R) are correct and (R) is the correct
explanation or (A)

Both (A) and (R) are correct but (R) is not the correct
explanation (A)

)

Give below are two statements :
Statement - | :

When an infected female Anopheles mosquito bite, it
release gametocytes of plasmodium into the healthy
person.

Statement -1l :

The female Anopheles mosquito takes up sporozoites
of Plasmodium with blood meal from an infected person,
suffering form malaria.

In the light of the above statements, Choose the
most appropriate answer from the options give
below :

(1) Statement- | is correct but Statement - Il is incorrect
(2) Statement-|isincorrect but Statement- Il is correct
(3) Both Statement - | and Statement - Il are correct

(4) Both Statement - | and Statement - Il are incorrect
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171.

Match List - | with List - 1l :
Listl List-ll
(@) Puccinia (i) Parasitic fungus on
mustard

(b) Neurospora (i) Dead substrates
(i) Wheat rust

(iv) Biochemicaland
Genetic Work

Choose the correct answer from the option given
below

(c) Saprophytes
(d) Albugo

@ ® (9 (d)
(1 i) @ v )
@ (i) (v) (i) (i)
@ O @ @i W
@ (v @ 0 (iif)

172. What would be the proportions of light and hybrid

173.

density DNA molecule, respectively if Meselson
and Stahl's experiment was continued for 60
minutes :

(1) 50%, 50%
@3) 75%, 25%

2) 25%, 75%
4) 100%, 0%

Match List-l with List-Il:
List-I List-ll
(a) Adhering junctions (i) Establish a barrier
that prevents
leakage of

extracellular fluid
across a layer of
cells

Functions like rivets
and fasten

cells together into
strong sheets

(b) Tightjunctions (i)

Pass information
through
neurotransmitters
from one cell to
another

(c) Gapjunctions

(iii)

(d) Synaptic junctions (iv) Provide cytoplasmic
channels from

one cell to an
adjacent cell for

communication

Choose the correct answer from the options given
below

(@ () © @
(1 @) (i) @iy @)
@ @) (i) (i) (v
@) (i) ) (v) (i)
@ @ (i) (iiiy (i)
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4) A-ll,B-l, C-lil, D-IV

174. Given below are two statements : one is labelled

175.

176.

asAssertion (A) and the other is labelled as Reason
(R).

Assertion (A) :

The nematode can not survive in a transgenic host which
expresses specific interfering RNA.

Reason (R):

Nematode specific gene introduced in the host produces

both sense and antisense complementary RNA which
initiate RNA interference in the host cell.

In the light of the above statement, choose the
most appropriate answer form the option given
below:

M
@
@)

(A) is correct but (R) is not correct
(A) is not correct but (R) is correct

Both (A) and (R) are correct and (R) is the correct

explanation of (A)

)

Both (A) and (R) are correct but (R) is not the correct

explanation of (A)

If a DNA molecule is shortened by 25 base
pairs,how many helical turns will be reduced from

its structure :

(M 1

2 3

(3) 25

@) 2

Select the correct match
A. Panthera I. Tiger
B. Canis Il. Dog
C. Felis lll. Cat
D. Solanum IV. Makoi
(1) A-IV, B-lIl, C-ll, D-I

(2) A-l,B-Il, C-lil, D-IV

(3) A-lll, B-Il, C-IV, D-I

4) A-ll,B-l, C-lll, D-IV
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177. Select the correct match

A. —  Meiosis in zygote

B. —  Meiosis in zygote

C. » —  Meiosis in zygote

D. —  Meiosis in spore mother cell
(1) ABC (2 A,B,D

(3) OnlyA, B (4) OnlyA, D

178. Select the correct match

— Supporting roots

— Adventitious roots

— Taproots
D. — Leaves for protection
(1) A, B, Conly (2) A, B, D only
(3) All 4) A, C, D only
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179. Select the plant cells/tissue

180.

Guard cell, Subsidiary cells, Leydig cells,
Parenchyma, Leukocytes, Bulliform cells, Phloem,

Podocytes, Mesophyll, Thrombocytes, Sertoli cells
(1) Seven

(2) Six

(3) Five

(4) Eight

On the basis of the mode of pouring of their

secretions, glands are divided into two categories

these categories are

(1) Simple and compound
(2) Dense and special

(3) Exocrine and endocrine

(4) Loose and dense
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4)

3)

[NCERT-XI-I-57]

F= d_v+d_m
dt dt
=0+2Mv
[NCERT-XI-I-131]
[Experimental]
0=2rx 840 —-11t
60
t=8s
[PYQ Modified 2019 Odisa]
R=2H
2
2P4_,9°
g 29
a=2p

[NCERT-XII-11-82]

12:k@ :>k:200E
100 m

T=2n {i =.628
200

=M

= 50i)x(o.5i+3.oj)=150RNm

[PYQ Modified Jhajjar]

o

Al

[NLI Expert]
N¢ =Li
1000x4x107° =L4
L=1H
[Experimental]
1 2
27171
V= 7 =2V
1
[Modified PYQ Manipur-2021]
x = asin ==t
T
t=—
8 B
= asin—xI a
8 V2

12.

13.

14.

15.

16.

17.

18.

19.

20.

1)

1

1

)

@)

@

@)

4)

@)

[NCERT-XI-I-57]

F= d_v+d_m
dt dt
=0+2Myv
[NCERT-XI-I-131]
[Experimental]
0=2nx 840 —11t
60
t=8s
[PYQ Modified 2019 Odisa]
R=2H
2
2P4_,9°
g 29
a=2p

[NCERT-XII-II-82]

12:k@ :>k:200ﬂ
m

100
T=2n, fi =.628
200
[PYQ Modified Jhajjar]
7 =MxB
= 50?)x(0.5?+3.0])=150RNm
[NLI Expert]
N¢ = Li
1000x4x107° = L4
L=1H
[Experimental]
1 2
27171
Ve -
1
[Modified PYQ Manipur-2021]
X = asin="t
at t=—
= asinﬁxI a
T V2




21. (2) [Experimental]

10uC  (10+20)pC

C kC
k=3
22. (4) [PYQ Modified NEET-2023]
8
ve S _ 3X10  _45.10° m/s
Jiog,  V1.3x2.14
23. (2) [NLI Expert]
3raafea fopxol gdor R oTFaq US|
25Cm !
$ :::: él
M
— >
2.66 cm
r v 1,5
v -25 10 3
S0 _ 2.66 + 2f
3
f=7cm
24. (1) [NCERT-XII-1-47]
25. (3) [Experimental]
R
Rec = g
1.8,8 5648 64
R R 7R 7R 7R
rR_/R
64
26. (3) [NCERT-XII-I1-250]
Erms
| =
XC
1
X = — = 4
© 100x10°
i= 20? =20mA
10
27. (1) [NCERT-XII-11-233]
E-0.3 _6x10°
200

E=1.5V

21.

22,

23.

24,
25.

26.

27.

[Experimental]

10uC  (10+20)uC

C kC
k=3
@) [PYQ Modified NEET-2023]
8
ve—O 3x10 =1.8x10* m/s
Jiogo  V1.3x2.14
@ [NLI Expert]

Final image will conside with object when refracted
ray from lense falls on mirror normally.

25Cm

'
'

B Tt DT

& -=I3ney
M
—>
2.66 cm
111,80
v -25 10 3
@ =2.66 + 2f
3
f=7cm
(1) [NCERT-XII-I-47]
(3) [Experimental]
R
R..=—
EC 8
1.8,8 5648 64
R R 7R 7R 7R
rR-R
64
(3) [NCERT-XII-I-250]
| — ms
XC
= ; = 1 4
€ 100x10°
= 2040 =20mA
10
(1) [NCERT-XII-1I-233]
E-03_ 6x107°
200
E=15V




30.
31.
32.

33.

34.

35.

36.

37.

38.

39.

2

3)
2
3)

2

3)
2
2

4)

[NCERT-XII-II-14]
E, = 132'6 =-13.6+12.1
n
n=3
. 3(3-1
T BT HEAT = ( > )_ 3
[NCERT-XII-II-232]
m=+3
f
m=——
+u
12
12+u
u=-8cm
[NCERT-XII-I-157]
[NLI Expert]
[PYQ Modified]
60 = 200xsx20+200x1x80
200xs+200x1
1
S =—
2
[Experimental]
q_4
C
a5
kC
k=2
[NLI Expert]
[NCERT-XII-I-47]
[NLI Expert]

[PYQ Modified-2021]

) [NCERT-XII-II-]

TEHT TR IIATRT el & AT eafy 3T FaRd
& Brfr|
@) [NLI Expert]

MG-F, —f=0

= MG —M—G -f=0

2
MG

Sf=—
2

28.

29.

30.
31.
32.

33.

34.

35.

36.

37.

38.

39.

) [NCERT-XII-I1-14]
E, = 132'6 =-13.6+12.1
n
n=3
. 3(3-1)
No of lines = =3
2
(3) [NCERT-XII-II-232]
m = +3
f
m=——
f+u
12
12+u
u=-8cm
(3) [NCERT-XII-I-157]
(2) [NLI Expert]
(3) [PYQ Modified]
60 = 200xsx20+200x1x80
200xs+200x1
1
S f—
2
(2) [Experimental]
a_4
C
97
kC
k=2
(3) [NLI Expert]
() [NCERT-XII-I-47]
(2 [NLI Expert]
4) [PYQ Modified-2021]
) [NCERT-XII-II-]
No atmosphere on the moon hence, sound will not
propagatge.
(2) [NLI Expert]
MG-F, -f=0
=MG- Me -f=0
2
Lf=MG
2




40.

41.
42.
43.

44.

45.

3)
2
O

O

2

[NCERT-XII-11-276]

%:¢+eV:——1+2—3eV ......... (1)
N 6 11k, -k, =56V
212

[NCERT-XII-1-265]
[NLI Expert]
[NCERT-XI-I-83]

o8B
THIH H U ABT I
u- 295 = JoR

THRI & R 918 AT AR B T v, 3R v, 8 |
.. COM¥ :

m
mu=my, + -V,

2v,+v, =20 ... (i)
e=1=Y2" "1
u
=SV,-V,=Uu ... (ii)
:>3v1—u:>v1_g_%\/giR
[NTA]

[NCERT-XII-1I-310]

40.

41.
42.
43.

44.

45.

(3) [NCERT-XII-I-276]
h—C:<1>+eV:h—C:1+2:3eV ......... (1)
Py hy
NC 6 14k, -k, =56V
A2
(3) [NCERT-XII-II-265]
@) [NLI Expert]
(1) [NCERT-XI-I-83]
R/2
A
R/2
@B
Velocity of A just before hitting:
u= 292 =./gR
Just after collision, let velocity of Aand B are v, and
v, respectively:
. by COM:
m
mu =mv, +EV2
2v,+v,=2u ... (i)
e=1=Y2 Vi
u
=SV,-V,=Uu .. (ii)
=3v,=u=v, =2 1\/gR
3 3
(1) [NTA]
2 [NCERT-XII-II-310]




CHEMISTRY

46.

47.
48.

49.

50.

51.

52.

53.

U

3)
4)

4)

4)

4)

4)

@

[NCERT-XII--47]

B (A) IR BRI (R) TFT I ® 3R BRI (R),
HAT (A) BT TE FRAT DRl & |

[NCERT-XI-I-301]

[NCERT-XI-II-321]
U | 3R HUF 11 S LT 2 |
[NCERT-XII--13]

I A-B SRR > A-ATT B-B Scxa{ al fasmor

I9ec & o9 A FoRIAS A fogdr 2|

LRI + g DI A T2l
I + T BIg fdere e
STl + QTS +ve fager
Trsfed a3 + STt —ve fage=

[NCERT-XI--156]
SETAIARYT AMATHATY 2 ISHEUT Uil o1 Bl

oC C
B>D>A>C
[NCERT-XII-I-213, 233, 242, 253]
e e B
a. foetar JR—SR
b. TRife®H 37T T dIeeTS Slfela!
c. BrfeeeTsS HASIRT
d. eredid ECS
[NCERT-XII-I-232]

faff=1 %9 # (D) TG BT UgAT |

Lo oL, _

(n) H;0"

[NCERT-XII-I-110]

TS S B ReR JATRITHRUT ATIRRAT +3 & | Ce**
TP SIdeid ®I U8 BRD +3 ARAT § dacd- &
oI AAIPR BT & | ST TE Tdh 3T SHRIBROT
P 7§ BRI BT 2 |

Eu?* H <IgMTSS &I 21fedh ReR +3 STaRITHROT 3rael
Ui R @ [ U Soldeid Wi &1 U Hg\l?l

BT & | SAfIY I8 Y HoIqd HH PR dTall Yoic
g |

46. (1)

47.
48.

@)
4)

49. (4)

50. (4)

51. (4)

52,

4)

53. (2)

[NCERT-X1I--47]

Both Assertion (A) and Reason (R) are true and
Reason (R) is the correct explanation of Assertion
(A).

[NCERT-XI-1I-301]
[NCERT-XI-II-321]
Both Statement | and Statement Il are correct.
[NCERT-XII-I-13]

If A-B interactions > A—A or B-B interactions then
mixture shows negative deviation from Raoult’s law.

Hexane + Heptane No deviation
Benzene + Toluene No deviation
Water + Ethanol +ve deviation
Nitric acid + Water —ve deviation

[NCERT-XI-I1-156]
Neutralisation reactions are exothermic in nature.
Acidicstrength oc AH . (negative value) Thus,
acidic strength order is:
B>D>A>C
[NCERT-XII-II-213, 233, 242, 253]

Correct matches are:

a. Phenol Reimer-Tiemann

b. Acetic acid Hell-Volhard-Zelinsky
c. Formaldehyde Canniozzaro

d. Toluene Etard

[NCERT-XII-1I-232]

Identify the product (D) in the following reaction
sequence:

COOH ONH, CHzNHz
(.) LiAlH,

(||)H3O

H30 NH3

[NCERT-XII-I-110]

The stable oxidation state of lanthanoids is +3. Ce**
tends to accept an electron to change to +3 state.
Hence, it acts as a good oxidising agent.

Eu?* has a strong tendency to lose an electron to
attain the more stable +3 oxidation state of
lanthanoids. Hence, it is a strong reducing agent.




54. (1)

55. (2)

56. (2)

57. (4)

58. (3)

59. (2)

60. (4)

61. (1)

62. (1)

[NCERT-XII-I-37,101]
FHUT (A) IR BRUT (R) SFTI A & 3R BRI (R),
BT (A) B HE TR B |

[NCERT-XII-I-109]
FHUT (A) IR BRUT (R) SFTI A & 3R BRI (R),
FHUF (A) DI Ll IRAT T2l B |
[NCERT-XII-I-129]
[Co(NH,)g]**, H Co, Co* TaRATehR YT FaRelT Il
2|
»,Co : [Ar], 3d7, 4s?
Cod* : [Ar], 3d6; T d2sp3 AT<IREF HeTdh 1D 2,
rEH  6d-geldgi | 3 gelag™ I ¢ |
[NCERT-XII-I-04]

; Mass % x10 x d
- GMM

[NCERT-XI-I-61]
n=4,1=3M=+1,S = +1/2
[NCERT-XI-1-45]

(3-2)
l=1.09x107(%—i2j=1.09x107 -4
A 23 9 x
__ 36 g 3600
5x1.09 “Sx1.09"" = 660mm

[NCERT-XII-1I-201]

i) M;
CH,OH+PCL.—> CH,Cl ey o CH Mg Cl <>

P) Q

OMgCl
H-C-CH, —10 sCH,-CH,0H
& ®)
(R)
[NCERT-XI-I-112]
P (A) 3R BRUT (R) GFT I & 3R BRI (R),
BHAT (A) DI TE ARAT & |
[NCERT-XII-I-80]

E*
logk =logA — 2303RT

-_E
log k ‘@e "2303R

1
<

54. (1)

[NCERT-XII-I-37,101]
Both Assertion (A) and Reason (R) are true and

Reason (R) is the correct explanation of Assertion

(A).

55. (2) [NCERT-XII-I-109]
Both Assertion (A) and Reason (R) are true and
Reason (R) is not the correct explanation of
Assertion (A).

56. (2) [NCERT-XII-I-129]
In[Co(NH,)]%*, Co exists as Co®*

»7Co 1 [Ar], 3d7, 4s?
Co3* : [Ar], 3d8; It is d2sp3 inner orbital complex
with 3 electron pairs of 6d-electrons.

57. (4) [NCERT-XII-I-04]
Molarity = Mass % x10 x d

olarity = oMM

58. (3) [NCERT-XI--61]
n=4,1=3,M=+1,S =+1/2

59. (2) [NCERT-XI-I-45]

1 1 1
S=Rl—5-—
A n, n,
(3 - 2)
1 1 9-4
—=1.09 107(—2 —zj =1.09 107[ j
X
36 -7 _ 3600 nm

5x1.09 1.09 " = 660mm

60. (4) [NCERT-XII-I1-201]

CH,OH+PCl,—> CH,Cl ey s CH Mg Cl 0>
(P) Q
OMgCl
H-C-CH, —2 5CH,—CH,0H
| )
H
R)
61. (1) [NCERT-XI-1-112]
Both Assertion (A) and Reason (R) are true and
Reason (R)is the correct explanation of Assertion
(A).
62. (1) [NCERT-XII-I-80]

E*
logk =logA - 5303 RT

-_E
log k ‘@e “2303R

1
<




63. (2 [NCERT-XII--129] | 63. (2) [NCERT-XII-I-129]

SR 1 Nih Wareor raeerft s & — tne-nypridisation"satss of he Ni is, 1sspectvely
sp?, dsp?, sp® sp®, dsp?, sp®
64. (2) [NCERTXIH-102] | 64. (2) [NCERT-XII--102]
d* o= [ dfar SRfed SoldeE, gHS STel ds configuration (five unpaired electrons). The mag-
(p)= m BM., n=+/5(5+2) =5.92BM netic moment, pis u=,/5(5+2) =5.92BM
65. (2) [NCERTXI-17] | 65. (2) [NCERT-XII--17]
C, (kAN = C, (3r=iTa fdeia) C, (urea) = C, (unknown solute)
w, 10007 [w, x1000 {WBX1OOO} :|:WB><1000:|
10x1000 5x1000 10x1000 5x1000
60x1000 m, x100 Me =300 gmol™ 60x1000 _ my, x100 Ms =300 g mol
66. (3) [NCERT-XI--284] | 66. (3) [NCERT-XI-I-284]
HESISIE| Hydrazine
67. (2) [NCERT-XII--126] | 67. (2) [NCERT-XII--126]
68. (2) [NCERT-XIM-38] | gg () [NCERT-XII-I-38]
69. (4) [NCERT-XH-205] | g (4) [NCERT-XI--205]
Mz7als)= 2M32+y(aq)+ 3X23y(aQ) MpX(s) = 2M%* (aq)+ 3X2 (aq)
1-y 2y 3y

K, = [M*P [X* P
= (2y)* (3y)°
K, =108y

K, = MO D
= (29 (3yY

K,, = 108 y°

70. (2) [NCERT-XI-1-150] 7. @ [NCERT-XI--150]

—393.5 — 285.8x2 + 890.3 = —74.8 kJ/mol
71. @) [NCERT-XI-I-271]

—393.5-285.8x2 + 890.3 = -74.8 kdJ/mol
7. 4) [NCERT-XI-I-271]

CH,-CH-OCH, &Tiifid ®Ted W Soldg

~ \, CH, — CH— OCH, has electron releasing group at
A 99 9 dEiacay & ReR Rl ) ° 9 group

cationic carbon stabilize this carbocation, therefore

g¥fery R A & stability order is :
CH,-CH-OCH, > CH _CH-CH > CH,~CH-OCH, > o _CH-cH >
CH, - CH- COCH, CH, - CH— COCH,
72. (2) [NCERT-XI-I-266] | 72, (2) [NCERT-XI-11-266]
HO HO
4
A 3 AN ANH:
2 6 2 6
O,N” 3 O,N” 3
CHO CHO

5-QHII-4-IFSIRAT Afei-1-2-TggIdiicsETss 5-amino-4-hydroxymethyl-1-2-nitrobenzaldehyde




73. (3) [NCERT-XI-I-18]

1.6gCH, n=0.1
16 g CH, n=1
16 HIcT CH, n = 16 3fferHad Ale,
ferepa 377
16 mg CH, n=10"3
74. (3) [NCERT/X1I/121]
2.303 100 2.303 100
log] =n ——log——
K 12.5 K 50
( 100)
logl —
_ 12.5 =3
log?2
75. (1) [NCERT-XII-I-36]
AG°=—nFE®° cell
If E°cell = —ve then AG°= +ve ie, AG°> 0
AG°=-nRT log Ko
for AG°= +ve , K,=-veie K <1
76. (1) [NCERT-XII-I-128]
Co3* 3T BT soidelae fafa=amT = 2|
Co3* 3maH
3d
[CoF I3 3ma
3d 4s 4p 4d
DD Delx] [
sps'd2
hybridisation

F~, gdcl foriIus 81 & RO d- SUBI H Seldai
P YA A8 PR U © SR qEI PED
IMCHADIT Aol qTdT 2 |

[Co(NH)g]>" 31T

3d 4s 4p
] xIxDx] 1]

d2sp3
hybridisation

4d

[Fe(CN)gl>~ 3 :

DI IxIx] LT 111
dzsp3
hybridisation
[Cr(NH,)g* ion

73. (3) [NCERT-XI-I-18]
1.6gCH, n=0.1
16gCH, n=1
16 moles of CH, n = 16 Maximum moles,
Maximum molecules
16 mgof CH, n=1073
74. (3) [NCERT/XII/121]
T= nt,
2.303 ( 100 ) (2.303 100)
log =n log
K 12.5 K 50
( 100 j
log| ——
_ 12.5 =3
- log?2
75. (1) [NCERT-XII-I-36]
AG°=—nFE®° cell
If E°cell = —ve then AG°= +ve ie, AG°> 0
AG°=-nRT log Ko
for AG°= +ve , K,=-veie K <1
76. (1) [NCERT-XII-I-128]
Electronic configurations of
Co3*ion
3d
[CoF g3 ion
3d 4s 4p 4d
WTAT] D D] [xIx] |
sp3d2
hybridisation

F~, being a weak ligand cannot cause forcible
pairing of electrons within d subshell and forms

outer orbital octahedral complex.
[Co(NH,)s]*" ion :

3d 4s 4p
D] xIxDx] 1]
dzsp3
hybridisation
[Fe(CN)gl*~ion :

A x] I xIxTx] (T 1]
dzsp3
hybridisation
[Cr(NH,)g%* ion

4d




77.

78.

79.

80.

81.

4)

1

1

4)

@

a.

I D] LT

dzsp3
hybridisation

NH, Ud CN-Tae foriivs & gaferd 3 37 deld
ICHADIT Aol T 2 |

[NCERT-XI--204]
ferardr PrHBe = MX =K =4s®
MX = K =s?
MX, = K, = 27s*
[NCERT-XII-I-56]
Pb 14d |8 &1 ¥eW © 3R IT +2 3R +4
SiTRATRROT JfeRel SWIdT & oifdbe FfSpa e
9T & HRUT Pb*2 Pb* &1 oil # 31t ReR
2| sfere Pb(IV) AfT® Yl SifRfleR® 81
2| FNfF Pb AT & IfF IRl PoH
=T B I B |
Pb** + 2e-— Pb*? AG® < 0 ({gV)
PbO, BT ST o8 WISl deRal H fhar Srar
2 8l PbO, & 1T U by Y ofs @1 e
DS & WU H BRI BT © 3R AT & I8
T § SR 2 |

[NCERT-XII-I-102]

[Ni(CI), ]2 - 2.82B.M.
[Co(C,0,).]° - 0B.M.

[FeF I° - 5.92B.M.
[Mn(CN).I - 1.73B.M.

[NCERT-XI-I-244]
SAFART (4), NO,(+4) BT NO,(+3)d NO, (+5) H
SRAATIUTE SAFAfhAT Bl 2 |

[NCERT-XI-I-115]

CIF, b. PCI,
T ¢
F-CI-F c1°p(8
| |o°C
F Cl
36 +2 Ip =5 spd (50) =spd
(T-3TPR) (EIEaUIRREENEIS))
IF, d. ccl,
F Cl.
2F AT
F—I i Ccln
N S TN
| F a | e
FE Cl.
(56 + 11p) =6 spid? 46 (sp®)
GRAEENEISE)! (Tl

77.

78.

79.

80.

81.

4)

M

M

4)

@

a.

AT Ix] I [xIxDx] (1T 1]

dzsp3
hybridisation

NH5 and CN™ are strong ligands, so they form
inner orbital octahedral complex.
[NCERT-XI-1-204]
Solubility product = M, X = K_ = 4s®
MX'=K,, =s?
MX, =K, =27s*
[NCERT-XII-I-56]
Pb is a member of 14" group and it shows +2 and
+4 oxidation state but due to inert pair effect, Pb*?
is more stable than Pb*™. So Pb(IV) compounds
are strong oxidising agent as Pb* gets easily
reduced to more stable Pb*2.

Pb** + 2e-— Pb*? AG® < 0 (spontaneous)
PbO, is used in lead storage batteries where as a

grid of lead packed with PbO, acts as cathode
and also it is amphoteric in nature.

[NCERT-XII-I-102]

[Ni(CI),}2 ~ 2.82B.M.
[Co(C,0,),]° - 0B.M.

[FeF I° ~ 5.92B.M.
[Mn(CN),J - 1.73BM.

[NCERT-XI-11-244]

The reaction (4), involves disproportionation of
NO,(+4) into NO,(+3) and NO,™ (+5).

[NCERT-XI-I-115]

CIF, b. PCI,
% ol
F-CI-F c1°p(8
| |o °Cl
F Cl
30 +2Ip =5 spid (50) = spd
(T-Shaped) (Trigonal bipyramidal)
IF, d. CCl,
F Cl.,
IDF ST
F—1 i C NG
| F &l a
F T Cl."
(56 + 11p) =6 spid? 46 (sp?)
(Square bipyramidal)  (Tetrahedral)




82.

83.

84.

85.

86.

87.

88.

e. XeF, e. XeF,
-9 -9
I:/Xe I:/Xe

O F

46+ 2Ip =6 (sp’d?)

CREREIR)
3) [NCERT-XII-I-65]
diN2] _ 1d[NH3]
dt 2 dt
_ % x3x10™% =1.5x10 *mol lit Tsec™
3) [NCERT-XII-I-218]
CH,—CH—CH,OH + CH,CH,|
I
CH,
) [NCERT-XII-I-65]
1dBr] 1dH'
s @ wx ey L oo 1 1dH
5 dt 6 dt
1) [Mod. NCERT-XII]
P | 3R HU 1| ST oA 2 |
3) [NCERT-XII-106]
KMnO, SfffaRifere sl @ el FHIHRYT STAR
IfAfhar Hxar 2 ¢
2MnO,- + 5C,0,% + 16H* — 2Mn2* + 10CO, +
8H,0. I&1, 0.1 M KMnO, T 20 mI aRTeR & 50 mL
H10.1 MH,C,0,
@ [NCERT-XIHI-177]
__INOP
" IN21x[02]
(2.8x1073)2
(3.0x1073)x (4.2x1073)
=0.622
@) [NCERT XII-I-50]

o0 o< oC oC
Am(HA)= pcl + NaA ™ Nacl

=4259+100.5-126.4
=400 s cm? mol!

K x1000 _ 1000
Am(HA)=T=5X1O SXW =50
Am(HA) 50 _ 4 405
o="o  =F~—=0.
Am(HA) 400

82.

83.

84.

85.

86.

87.

88.

OF

46+ 2Ip =6 (sp’d?)

(Square planer)
(3) [NCERT-XII-I-65]
diN2] _ 1dINHg]
dt 2 dt

= % x 3 x 10_4 =1.5x 10_4mol Iit_1sec_1

3) [NCERT-XII-11-218]
CH,—CH—CH,OH + CH,CH,|
|

CH,
@ [NCERT-XII--65]
: _ 1d[Br] 1dH"]
Rate of reaction will be —— =——
5 dt 6 dt

(1) [Mod. NCERT-XII]

Both Statement | and Statement Il are incorrect.
&) [NCERT-XII-106]

KMnO, reacts with oxalic acid according to the
equation,

2MnO,~ + 5C,0,* + 16H" — 2Mn** + 10CO, +
8H,0.

Here, 20 mL of 0.1 M KMnO, is equivalent to 50
mLof0.1MH,C,0,

7)) [NCERT-XI-I-177]
__INoP
¢ N2]1x[05]
(2.8x1073)2
(3.0x1073) x (4.2x1073)
=0.622
(@) [NCERT XII-I-50]
o0 oC oC oC
AmHA)= fcl + NaA ™ NaCl

=425.9+100.5-126.4
=400 s cm? mol"

K><1000=5><10_5>< 1000

M 0.001 - 2°

Am(HA) =

Am(HA
_ ZmHA) _ 50 4 405

a —
Am(HA) 400




[XI-NCERT-I Page No-79]

e e §
A->2,B>53,Co>1,D> 2.
W3 3MMAd [Z=58 Z =71]dd 3iR ATAd 3Mad [Z
=90 Z=103]SM & 14 Tl P HHI: IS
3R UfdeArre & ®U § ST ST 2 |

[XI-NCERT-Il Page No-280]
ReraRicT BT 5 <19 | AT §RT g ST H
@ fhT TV 18 A AT fhar S Ahar 21 9
fafe &1 SUANT $¥feTT fohar ST § R et
AU q@eied W faafed 8 ST 2|

[XI-NCERT-1 Page No-79]

The correct match is
A->2,B>53,Co>1,D> 2.
14 elements of both sixth period [from Z=58 to Z =
71] and seventh period [from Z=90to Z = 103] are
known as lanthanoids and activoids respectively.

[XI-NCERT-Il Page No-280]
Glycerol can be separated from spent-lye in soap
industry by distillation under reduced pressure. This

method is used because glycerol decomposes at
its boiling point.




BIOLOGY

91. (3) [NCERT-I-28 to 33]
a. Rrs9 (i) ForrRTH
b. uRey=H (i) cRemwrse
c. THIH (v) A
d. ARGYET (iii) foravac
92. (1) [NCERT-I-138 to 140]

TSI HLINUT H TSl JAMTHAT BT IS © -
(1) ATP,NADPH 3fR O,

93. (4) [NCERT-1-126]
SITSME— SRl fauTeT & gatawern | 4, oRga &
T T I R AR gfed g 2 |

94. (2) [NCERT--64]
W § GHT & T § 9 $UH °

a. ISR YHIR LTS HEAT 2 |

b. ¥ YR UTed ¥ el & | U sUTe Pl
g

c. HAMIUSTH [SEd H <@l SNl & |

d. SESTHH HeR H <! TR B |

e. RW ¥ ] B THITg H AT < Bl AT
=

95. (3)
Gy faaRer & forg el e ©

(1) f3reel o1 fa9w U= 3 Ufshar # AT &=l
=

(2) SAVRAT BT TS ATl YaUIAT & &1 [Q=m § urn
ST B |

(4) ATP 3d Ufhar & forg Qmawass 81 7 |

96. (1) [NCERT-11-207,208]
g @ Il & Ta § HEl HAF ©
(a) |eH1 Sifde foham & forg srnides ufcRTe giar @
(b) TER—T & TARGS uaref
(d) UI¥h dcdi Bl ISR
(e) 3mueed ¥ Igd oW I | I 7 |

[NCERT--94]

97. (1) [NCERT-I-69]
U & e H Hel HUF ©
(@) P I Bl IgUHTET Heil R I8 Y | SATAT

favIye &1 gurfdd &l 2 |

(b) TPATSABICIYRAT Ueh I BT I&TERT ¢ |

91. (3) [NCERT-I-28 to 33]
a. Cedrus (i) Gymnosperm
b. Adiantum (i) Pteridophyte
c. Sphagnum (iv) Moss
d. Marchantia (iii) Liverwort

92. (1)
The products of light reaction in photosynthesis are :
(1) ATP,NADPHand O,
93. (4)

Zygotene — In prophase | of Meiosis, chromosomes
start pairing together and synapsis takes place.

[NCERT-I-138 to 140]

[NCERT--126]

94. (2) [NCERT--64]
The correct statements related to the androecium in
the flower

a. The sterile stamens are called staminodes

b. When stamens are attached to petals they are
called epipetalous

c. Monoadelphous is seen in China-rosed.
d. Didelphous is seen in Pea

e. Variation in the length of filaments is seen in
Mustard

95. (3) [NCERT--94]
The statements about facilitated diffusion is incorrect

(1) Special proteins of the membrane help in this
process

(2) Movement of molecule the occurs along the
concentration gradient

(4) ATP is not required for this process

96. (1) [NCERTH-II-207,208]
The statements with regard to properties of humus
(a
(b
(d
(e

97. (1)

) Highly resistant to microbial action

) Dark-colored amorphous substance

) Reservoir of nutrients

) Undergoes decomposition very slow
[NCERT-II-69]

the correct statements with respect to pleiotropism

(@) A gene is said to be pleiotropy if it affects more
than one trait

(b) Phenylketonuria is an example of pleiotropy




98. @) [NCERT--172]
Shifaa fawfed SIRe S 6 o/ iR i g
D &I BT T bl &, Fo W aRRefaar # faursr
BT fAA T UK PR Gl © | Ig "ol Mfdwed
DEAT &

99. (1) [NCERT-1-108]
A. 919 =9 I lll. 3MILAD T
B. R . 98D Uare
C. Sisexu II. cRUHTS
D. IRICHTS IV, 379
100. (1) [NCERT-1I-87]
3MgaRRe uaref &I AUSrs 3
(1) =99 i & forv gRadd @ G=aETe &)
1R |
2) U I AUSH & ALV & FIHY IfHATT BT
=11 |

(3) U Ufrpfcr 99T H |eT BT =R |

(4) YIRS IR TRAAHS B I RR)Y BT 9117 |
101.(2) [NCERT--194]

DY -1 :

“;—> UH YHR BT WBC IR 9eTd BT

.

DA -l :

. T,
:.“ — RICecH IR Iqd & Wha H HEI]

HIAT B |
102.(2) [NCERT-I1-84,85]

(2) ST (A A Td) + R-Ig Sifad — Ig 1 goldes
a?@TGﬁﬁﬁ

103.(3) [NCERT-11-222,223]
ERIG Alhsl’ @ AT ST 2
AT &fa JiR fagvss
arfa—are
faeeh Sifa amepaor
SEEGEI

98. (4) [NCERTI-172]

The living differentiated cells, that lost the capacity to
divide any more, can regain the capacity of division under
certain conditions. This Phenomenon is termed as

Dedifferentiation

99. (1) [NCERT-I-108]
A. Lemongrossoils Illl. Essential oils
B. Rubber I.  Polymeric substance
C. Diterpene Il. Terpenoids
D. Carotenoids IV. Drugs

100. (1) [NCERT-II-87]

The criterion of genetic material :

M

Should provide the scope for changes for
evolution

@)

Should be able to express itself in the form of
Mendelian character

3)
4)
101.(2)

Should be able to generate its replica
Should be stable chemically and structurally
[NCERT--194]

Statement |I:

“ — A type of WBC and phagocytic cell

Statement Il :

L X 3
w ¥ - ,
a9 Platelets and help in blood clotting.
102.(2) [NCERT-II-84,85]

S-strain (heat killed) + R-strain(live) — injected
into Mice — Mice died

103.(3) [NCERTH-II-222,223]
the following come under the "EvilQuarter :
Habitat loss and fragmentation

Over-exploitation

Alien species invasion

Co-extinction




104.(3) [NCERT-I-110,111]
DY |:
AT U& UieiiRa dieiiavrsed 2
DI I :

AT DT Jed 3T Te[bIoT 3T0] BNl B |

105.(4) [NCERT--227]
DY -1
Sire 3TRerl 3erar Uah 21RRer Td Ush SUIRYT & 41
BT AR B |
DA -l

Sirel gRT T & forg Uefh Sfva aat &1 Sy faar
ST 8 | STel SIS 3MTel™ &l B R ¢ |

106.(1) [NCERT--125]
(1) (A) 921 € R (R) &l 21 B
107.(3) [Old NCERT-I]

3Fef pierll 2N fATSIae AlhadT & HROT G~
Bl 8
108.(4) [NCERT-II-193]
S S & eafaell o ag e § 5 <) S aAamaft
T® SR IMMANT BIEHR Hal 3R Fel T & Myard
SIESINES
109.(1)

(a) fRHATmIferar

[NCERT-II-73 to 76]

(i) ToIT—or= IywrdT
PR, Yad Fh<a-
H ERTEY

(iv) IORTS AT 211
arfaRaa gfafer

() ST ST
Ffe e TrgH
BT T BIAT ®
Shifes fberser
TATHI BT TSR
H ggofar g |

(iii) X-TOrH B
e ufafer &
SuRerfay

110.(1) [NCERT-II-181,182]
7= @ forg omgafe ifwifye s=gfom &1 fmfor
SR PIeATg | BIaT &

111.(3) [NCERT-1-175]

RRITT gaT=IdT BT g1 9t 99T foTv SUART BIaT
g

(b) s134 %‘I'ﬁ H
";

(c) TTget BrerRAT

(d) FATgTHEER

104.(3)
Statements-I:

[NCERT-I-110,111]

Cellulose is a polymeric polysaccharide
Statement-Il :
The building blocks of cellulose are glucose molecules.
105.(4) [NCERT--227]
Statement |:

Joints are points of contact between bones or between
bones and cartilages.

Statement Il :

Force generated by the muscles is used to carry out
movement through joints, where the joint act as a

fulcrum.
106.(1) [NCERT-I-125]
(1) (A)is correct but (R) is not correct
107.(3) [Old NCERT-I]
Axillary buds are derived from the activity of Apical
meristem
108.(4) [NCERT-11-193]

The process of individuals of the same species that
have come into the habitat from elsewhere during the
time period under consideration is referred as Immigration

109.(1) [NCERT-II-73 to 76]

(a) Haemophilia (i) Sex-linked recessive
disorder defectin
blood coagulation

(b) Down's Syndrome (iv) Additional copy of

chromosome
number 21

Inborn error of
metabolism which
lacks an enzyme
that converts
phenylalanine into
tyrosine

(c) Phenylketonuria ()

(d) Klinefelter's
Syndrome

(iii) Presence of
additional copy of X-
chromosome
(44+XXY)
110.(1) [NCERT-1I-181,182]
Genetically engineered insulin for human is produced
from Escherichia coli

111.(3) [NCERT-I-175]

Removal of apical dominance by decapitation is utilised
for Hedge making




112.(2) [NCERT-II-18]
STTTS HAIGT UTey &I $hi Lelaivs R Ured &
AT BRI S dG UH o1 & YUY &) SIS
ST Bl

113.(3) [NCERT-I-28 to 32]

Uh AN B UIeHAd BIRMHE — Beivs 1eqdl

Aferwrse

14.(4) [NCERT-I-159,160]
(@) ETS ®iFciad-| (iii) NADH
ISHESINEH]
(b) ETS BHireias-Il (v) ISR R
FAD fegTggIfore
(c) ETS ®ireiasd-Ill (i) Cytbc,
(d) ETS ®iFelad-IV (i) Cyta,a, 3R 2
PR Tvg
115.(3) [NCERT-I-220]

IogS=IogC+ZIogA\_r|€TZ%\r
(3) &I & TA™

116.(1) [Old NCERT-I] [NCERT-I-60,61]
(1) dlcHeell Fgad — Ried dfed
(2) THR Uifd=E —  Tesd
(3) Ui gaE - AX
(4) AFE Uvifa=IT — DA
117.(4) [NCERT-11-194]
RO g BT THHIT B
4) N, =N, e"
118.(4) [NCERT--236]
RIS dohe Y@l © |
(1) HI<T &
(2) AR &=
(3) FIrft e
119.(4) [NCERT--159,160]

ATSEIh ¢ BIFeldd Il 3R IV & d1F Solae = &
MR & foIT Tl a8d BT BIH HRAT &

120.(4) [NCERT-I-65]

ARG — UTey St13 3187 UR el & {9+ Seq=1 g
dISvS & SISIUSTET Dl &l

121.(3) [NCERT--231]
R B STel I FATDR T GaAT — BISSI BT AP
T

122.(1) [NCERT--142 to 145]

C, 3R C,UIgul & §IF Bla SIS ReRIDHRUT
BT AIUT 2: 18 |

112.(2) [NCERT-II-18]

Hexaploid is the ploidy of endosperm of a seed produced
after crossing tetraploid female plant with tetraploid male
plant

113.(3) [NCERT-I-28 to 32]
Protonemal cell of a moss — Gametophyte or haploid

114.(4) [NCERT-I-159,160]

(@) ETS complex-I (i) NADH
dehydrogenase

(b) ETS complex-I (iv) Ubiquinone and
FADH
dehydrogenase

(c) ETScomplexllil (i) Cytbc,

(d) ETS complex-IV (i) Cyta,a,and2
copper centres

115.(3) [NCERT-11-220]

Species Area relationship is described by the following
equation.

log S =log C + Zlog Awhere Z is Slope of the line
116.(1) [Old NCERT-I] [NCERT-1-60,61]

(1) Palmately compound — Silk Cotton

(2) Alternate Phyllotaxy — Chinarose

(3) Leaf tentdril—Pea

(4) Opposite phyllotaxy — Calotropis

117.(4) [NCERT-II-194]
the correct equation of exponential growth
(4) N,=N,e"

118.(4) [NCERT-I-236]

The cerebral cortex contains
(1) Sensory area
(2) Motor area
(3) Association area
119.(4) [NCERT-I-159,160]

Cytochrome ¢ — the cytochrome which acts as a mobile
carrier for the transfer of electrons between complex Il
and IV

120.(4) [NCERT--65]

Primrose— plants possess the placentation of ovules
borne on central axis with no septa

121.(3) [NCERT-I-231]
Composed of network of neurons — nervous system
of hydra

122.(1) [NCERT-I-142 to 145]

The ratio of carbon dioxide fixation between C, plants
and C, plants is —2: 1




123.3) [NCERT--109]
UCTgS 9 — U 3FIAI 37l BRI T8 B G
I o & 3Tl WHE @ AT IMhAT &
IRUTRTEY STl & (shras & |1 a9aT ©

124.(4) [NCERT-I-150]
B¥fel 9T TR & T CO, ¥ YR grararor H
AMUE WY A IR SR ©
(4) THIER IR R g
125.(1) [NCERT-I-168 to 170]
(A) & 8 OXg (R) Wel e ©
126.(1) [NCERT-I-17,18]

Jh—hddh — TPTHATSRICIOT

qhdledd, HINH, Sdhe dad — JRIfSaT AsRicol

127.(3) [NCERT-II-130 to 138]
(A) AT I, Sfrarog
EREN
(B) ATSTHISIIH Il Teromat
BHeITURA
(C) RRAT d=hIwET Il Ubaforeeliol
(D) HIV V. frsmog
128.(4) [NCERT-I1-142,143]

A. — UYaR |rTHRA

B. \ — HEEN Aergar

C. — g

D. |\3 : - %o Rgonfedl @ gr

123.(4) [NCERT-I-109]

Peptide Bond— formed as a result of reaction of carboxyl
group of one amino acid with amino group of other amino
acid with elimination of water

124.(4) [NCERT-I-150]

Tomatoes and Bell pepper — crops have been extensively
cultivated in CO, rich atmosphere for higher yield

125.(1) [NCERT-II-168 to 170]
(A) is correct but (R) is not correct
126.(1)
Sac-fungi — Ascomycetes

[NCERT-1-17,18]

Puffballs, Mushrooms, Bracket Fungi —
Basidiomycetes

127.(3) [NCERT-II-130 to 138]
(A) Haemophilus |. Bacteria
influenzae
(B) Plasmodium Il. Protozoa
falciparum
(C) Wuchereria lIll. Aschelminthese
bancrofti
(D) HIV IV. Virus
128.(4) [NCERT-1I-142,143]
A. — Papaver somniferum
B. — Cannabis sativa
\
C. — Datura
OH
NS
D. 10 — Abused by some sports

person




129.(7) [NCERT-I-21]
A- IS ATART, B-YITUIY, C- HICIdATSH,
D -ElgUIdhIesa
130.(4)
PITTPRIZHT Sclh DT HeTT 2 |
(1) I8 U & ghg PR I 9NT B AifFed FErar
T Rl 2 |
) fEaTa= ureul | rggcar & A uRdl |
ST B
(3) TT AT ST & HRUT A BRI ol DHIfRADHTST
% 91 BId B
4) T8 SNfad Sds 81 &
131.(3) [NCERT-II-164]
UeH GAIITSl  DNA 9] &1 0T |redel
CISHIFgATAD AW wWreHls d gfasifas

[Old NCERT-I]

TfeRIEN oo SiF & e ¥ 8 Wl o
132.(1) [NCERT-II-69]
133.(4) [NCERT--190]

THISRIAT — fIPR 9y USRI BT AR & e
M & BRI THAR Fdg H "eia’] B TERid )

RET

134.(4) [NCERT-1-44,45]
B Hrad 1UDs B
(b) LNG-20
(c) WoRTRIC

135.(4) [NCERT-II-67,68]
Srfther H, i@l & 37 iR IR & [T &7 4 X-
TORE R Rerd ®

136.(1) [NCERT--219 to 223]
TFc IR e YIS gdl ag H Rerd &

137.(3) [NCERT-I-94,95]
DY -1 :

srafSifedtdr T @ foeelldg o 9F<wd o

PIRTDHT B A B |

DA -l :

AISSIRIvSAT IR BRATad 3 fEeelidT a1 &1 Udh

HIT 81 ST |

138.(1) [NCERT-II-83,84]

REAINAN & T51 H BT el ¢ |

(1) <JFRINEH DNA Sl T 200 bp & ©

(2) IR gelagi Geaasll ¥ a@- IR SN IR
A & ©U H <@ 1T § |

(3) DNA &HIH® ®U ¥ ARG 2™ Ied & AR
3R forue ox ~ydeiiamar &7 i $Rar 2|

(4) JFIIAM HIACT BT IARIGRT B dTell SaTg

&

129.(1) [NCERT-II-21]
A- Seed Coat, B- Endosperm, C- Cotyledon, D -
Hypocotyl

130.(4) [Old NCERTH]

The character of collenchyma tissue? :

(1) They provide mechanical support to the growing part
of the plant

(2) They occur in layers below epidermis in
dicotyledonous plants

(3) They consist of cells with thick corners due to
cellulose deposition

(4) Theyare living tissue
131.(3) [NCERT-II-164]

The construction of the first recombinant emerged from
the possibility of linking a gene encoding antibiotic
resistance with a native plasmid of Salmonella

typhimurium
132.(1) [NCERT-II-69]
133.(4) [NCERT-1-190]

Emphysema— disorders represents decrease in
respiratory surface due to damaged alveolar walls

134.(4) [NCERT-1I-44,45]
The hormone releasing IlUDs
(b) LNG-20
(c) Progestasert

135.(4) [NCERT-1I-67,68]

In Drosophila, the genes for colour of body and colour
of eyes are situated on X-chromosome

136.(1) [NCERT-1-219 to 223]
Actin and regulatory proteins are located in thin
filament.

137.(3) [NCERT-I-94,95]
Statement - | :

Membrane-bound organelles of the endomembrane
system coordinate cellular functions.

Statement - 1l :

Mitochondria and chloroplasts are not considered a part
of the endomembrane system.

138.(1) [NCERT-11-83,84]

With respect to nucleosome, The correct statements
are

(1) Nucleosome contains 200 bp of DNA helix

(2) Nucleosomes are seen as 'beads' on string' under
Electron Microscope

(3) DNAis wrapped around positively charged histone
octamer to form nucleosome.

(4) Nucleosome is the repeating unit of chromatin




139.(1) [NCERT-I-112 to 116]

UoTTgH AfhaoT Sofl P TeTdl & HhHoT 3fa=el
BT g9 B forw

140.(2) [NCERT--212]
USRI ASIgRicd HRdb — BIHIM Iad Q14 DT HH BT
2l

141.(3)
RATDHAT ST STl 2 |
(3) ifc S St e @& forw S STl

142.(1) [NCERT-II-172,173]
TP BIRNBT H, DNA Tolldbol U=iTsH DNA ovs &
31T & foly @RI 73T, STafds PCR H DNA ¥g+€ &l
3T STd ATIHH & BIROT BIT

143.(2) [NCERT-II-67,68]
T HH A AraTT 3Mgfcd Havd el © fd Siid 8Id 8
2) Th TR b Fae Red g &

144.(2) [NCERT-II-32,33]
AT H Y-TURIA 2nd AT 1T § IuRerd &t grar
2l

145.(4) [NCERT-II-195,196]
e SHaE [Ed d9eE & 9 aiviRes 9fE
Ieh BT UGRIT BT & STel Tl BT Fal HH BRI

(4) T TTARAT — TR UTARAT — A —> I~

[NCERT-11-224]

PIGES|
146.(1) [NCERT-1-48]
TR e} iRCraefisT § qrar Sfrem 8
147.(4) [NCERT-II-37]
BMHIF dadl TR & SR AT BT 8 :
(@) RetaiH
(c) hCG
(d) hPL
148.(2) [NCERT--190]

qad & gET ¥ te WA dddl &7 "Rkdss &

G &5 H &Y s @ AU Refd BIe 8, A

T HagTee CO, @ forg g 2
149.(4) [NCERT-II-151 to 153]
(1) ST 3R €cll - Sfar] g fhfoaq
) fafe® s —- IERIR®I Sa gRI
SIGIES
() THIfe® o — UHHIDHI SiId gRI
SIGIES
(4) FETEAIRT A~ TEPRGT ST g
SIGIES

139.(1) [NCERT-I-112 to 116]

Enzymes decrease the activation energy for
formation of transition state.

140.(2) [NCERT-I-212]
Atrial Natriuretic factor— hormones reduces the blood
pressure

141.(3) [NCERT-II-224]

Endemism refers to Species confined to that region
142.(1) [NCERT-1I-172,173]
In a cell, the separation of DNA strands is brought about

by the enzyme DNA helicase, whereas in PCR, the
separation of DNA strands is due to High temperature

143.(2) [NCERT-I-67,68]
Alow frequency recombination indicates that the genes
are Located close to each other

144.(2) [NCERT-II-32,33]
No Y-chromosomes are present in the 2nd polar body
in human beings

145.(4) [NCERT-11-195,196]

A population with finite resources shows a logistic
growth curve where the correct sequence of events will
be

(4) Lag phase — Acceleration phase — Deceleration
— Asymptote

146.(1)
Air bladder is found in Osteichthyes
147.(4) [NCERT-II-37]

The hormones are secreted in women only during
pregnancy :

[NCERT--48]

(a) Relaxin
(c) hCG
(d) hPL
148.(2) [NCERT--190]

In the regulation of respiration, a chemosensitive area
adjacent to the rhythm centre in the medulla region of

the brain, is highly sensitive to HCO,”
149.(4) [NCERT-II-151 to 153]
(1) Dosa and idli — Fermented by bacteria
(2) Citric acid — Produced by multicellular
organism
(3) Acetic acid — Produced by unicellular
organism
(4) Cyclosporin-A — Produced by multicellular

organism




150.(2) [Old NCERT-I]

o] SUGAT— SUBGAT IFqdedbIal &l IRART
P &

151.(1) [NCERT-1-126]
(€) > (b) - (e) » (d) — (a)

152.(1) [NCERT-II-37,38]

AT H O IRd T Hddl ((FM) BT @ | 0T
HA 2| I8 IF IRa ©
(a) VaeISH
(b) VUSTSH
(c) #Hotresd
153.(1) [NCERT--203]
FEIURRIT BT AT SfTaRATSTT @ SMYfel < AT
TE ® ACTIT BT HRT g9 & | T8 TRGERT T Pl
PR TITsT UaeIRE & w4 H UgdT SIdl &
154.(1) [Old NCERT-I]
(A) eI © IR (R) Wl T8l &
155.(1) [NCERT-1-48,49]

DU |: IR AR RIER WYY 3 Fefld gad &
2 fo 9 Q1 atfors &R Ua tavel frera 1 &, iR
NIRRTl &1 Brelm 7 |

P || HRIATS TH 4 B g af e 8k <
affer & A1 Il © 3R AR ygfy &1 Bt 2|

156.(2) [NCERT-11-44 to 48]
IUD — U YR BT THARTETD
157.(4) [NCERT-lI-135to 137]
TTCIRE THADRI STel Y ARSI 3FrdT ST YIRII0T
G CAREIEC arfEgd g faverr
BT JRIFAT B b fore feam sirar @
158.(2) [Old NCERT-I]

HUT HIF BT FIAT DR dTell BIfNBIT gfedrdy Ufere
SYPBT T &

159.(3)

(3) (d),(c).(a),(e),(b)
160.(2) [NCERT-II-121]
TIETRTh T8I IFeATTh STTHEIT RIFTRY & HRY]

BT ©

161.(3) [NCERT--242]
AT IRR H AT G S 6T dsh Uiferaet afwer
P I §RT 91¢ &7 STl §

162.(1) [NCERT--247]
PINIRCIBIZAT — U ST B ST fh R
DI SR AT BT I B B ol SEAIUT BT 2
SiI fh aTSHEFe AFN ¥ YR BIAT @

[NCERT-1-27,28]

150.(2) [Old NCERTH]]
Squamous epithelium— types of epithelium lines
the walls of blood vessels

151.(1) [NCERT-I-126]
(€) > (b) > (e) —> (d) - (a)

152.(1) [NCERT-II-37,38]
In human three layers give rise to all

tissues/organs in adults these three layers are
(a) Ectoderm
(b) Endoderm
(c) Mesoderm
153.(1) [NCERT-I-203]

Inadequate supply of oxygen to heart muscles leads to
a symptom of acute chest pain. This disorder of the
circulatory system is identified as Angina pectoris

154.(1) [Old NCERT-I]
(A) is correct but (R) is not correct
155.(1) [NCERT-1-48,49]

Statements-I: Amphibians and mostly reptiles have a
3-chambered heart with two atria and a single ventricle,
and oviparous in nature

Statements-II: Crocodiles possess a 4 chambered heart
with two ventricles and two atria: and viviparous in nature

156.(2) [NCERT-II-44 to 48]
IUD — a type of contraceptive
157.(4) [NCERT-II-135to 137]

Immuno-suppressants are administered to
burny patients or during organ transplantation to
suppress Cell-mediated immunity

158.(2) [Old NCERT-I]
Ear wax secreting cells have Exocrine glandular
epithelium

159.(3) [NCERT-II-27,28]
(3) (d).(c).(a).(e).(b)

160.(2) [NCERT-lI-121]

Genetic Drift occurs due to Sudden population migration
161.(3) [NCERT--242]

Normal sleep-wake cycle in a human body is maintained
by the secretion of Pineal gland

162.(1) [NCERT--247]

Cholecystokinin — An intestinal hormone that stimulates
the pancreas to release a watery secretion that is rich
in bicarbonate ions




163.(2) [NCERT-I-205]

I et & oY A fa¥er A JuRe
SN 5 T IR ThF or & IeUTeH MMATID B

164.(3) [NCERT-II-211 to 213]

DY |:

SHolt ®T fRfre weq iem siar & 3R SuTeT <87 8ian
=

DY I :

g | g A3 B RS qrr: Seel Bidl ¢ |

165.(4) [NCERT-II-168 to 170]

rDNA Th+ild H SIS B dTel Ueb 37 A8 o T[0T
g

(a) SHD TN ST BIU T B FHAT B drel
gfrepfias @1 Icafed B @y

(c) a8 #H wfaa=ee erd gfaoifdd—yfaRrel Si=g #
ERICIEN

(d) SHD U SUYA HIDR ST BT A1RY

(e) 39 A ¥ fAART 3R gg fHa1 &1 9

166.(4) [NCERT-II-116 to 118]
Wics Hehd — forR

167.(2) [NCERT--97,98]
(a) aviTcrad (iv) IRIEH
(b) THTE RS (iif) ¥
(c) TSRS (ii) et 3R =T
(d) TeguIrRe (i) =

168.(4) [NCERT--45,46]
Prec & oy AL &I 7 :

(a) BT 3NN BT B |
(b) T H FAH " U I

(c) = ATHI T YOS WGAT AR Tebel Bl
2

(d) TTE—TaT Y25 SURYT BT 7 |
(€) TcThTs SURed B |
169.(3)

[NCERT-11-181,182]

THT (A) 3R (R) &I ® IR (R), (A) BT el ARaT
BT B |

163.(2) [NCERT-I-205]

Terrestrial adaptations necessitated the production of

Lesser toxic nitrogenous wastes like urea and uric

acid
164.(3) [NCERT-II-211 to 213]
Statement - I:

Pyramid of energy is always upright and is the most

efficient

Statement-II:

Pyramid of biomass in sea is generally inverted.
165.(4) [NCERT-II-168 to 170]
the properties of a good vector used in
rDNA technology

(a) It should have origin of replication supporting a high
copy number
(c) The restriction sites in vector should be in the
antibiotic- resistant genes
(d) It should have suitable marker genes
(e) It should be easy to isolate and purify

166.(4) [NCERT-II-116 to 118]

Spotted Cuscus -  Lemur

167.(2) [NCERT-I-97,98]
(a) Chromoplasts (iv) Carotene
(b) Amyloplasts (iii) Starch

(c) Elaioplasts (i) Oil and fats

(d) Aleuroplasts (i) Proteins
168.(4) [NCERT-1-45,46]
The features are true for chordates :
(a) Heartis ventral
(b) Pharynx is perforated by gill slits.
(c) Central nervous system is dorsal hollow and single.
(d) post-anal tail is present.
(e) Notochord is present.
169.(3) [NCERT-II-181,182]

Both (A) and (R) are correct and (R) is the correct
explanation or (A)




170.(4) [NCERT-II-131,132] 170.(4) [NCERT-1I-131,132]
D |:

S Yo WehfAd HI&l YAl HeGR bIedl §, I8
TR AT H HINGTH & WRGIIS Bl gad

Statement - | : When an infected female Anopheles

mosquito bite, it release sporozoites of plasmodium

into the healthy person.

PHRAT B |
B | - Statement - Il : The female Anopheles mosquito takes
HIET Tl Heo” U Hehfiid a3, HolRam A up gametocytes of Plasmodium with blood meal from
TRIT & Yod YIo & 1T WIorIiSTg & e an infected person, suffering form malaria.
P oIl T | 171.(2) [NCERT-I-16 to 18]
171.2) [NCERT-I-16 0 18] (@) Puccinia (i) Wheat rust
B IEESLER (i) g, BT fhee
b) m W) S A alle (b) Neurospora (iv) Biochemical and
SIRCINCACa] Genetic Work
(c) 9d NI (i) 9a garef (c) Saprophytes (i) Dead substrates
(d) TesgT (i) RN O ARSI (d) Albugo (i) Parasitic fungus on
hddh
mustard
172.(3) [NCERT-II-88,89]
75%, 25% — Bod 3R FHY I are DNA 3] ar | 11243) [NCERT-1I-88,89]
JTUATT BTN, HHATT: MR HH A 3N e TINT 60 The proportions of light and hybrid density DNA molecule,
e & fou AR goll al respectively if Meselson and Stahl's experiment was
173.(3) [Old NCERT-I] continued for 60 minutes — 75%, 25%
(@) sl Wi (i) 3\{%? ar 173.(3) [Old NCERT-]]
‘DXl
Rl B v (a) Adhering junctions (i) Functions like rivets
— 8 and fasten
' 3 o cells together into
Hulgd dlax & 24U
3 strong sheets
(b) 3% Ty (i) T A @Y T (b) Tightjunctions (i) Establisha barrier
. AT | o that prevents
PR & 1= leakage of
B AR_TR extracellular fluid
R =g @ across a layer of
W Eﬁ W %\. | cells
©) A gfay (v) TP HIRTRT (c) Gapjunctions (iv) Provide cytoplasmic
W ToTSTP P channels from
BIRTHT I AR one cell to an
& forg HIR@r adjacent cell for
=i 3t B communication
U HRdl 2 | (d) Synaptic junctions (iii) Pass information
(d) AETEE | (i) TH  BIRIBT A A through
D] dATBT AR D neurotransmitters
qegq 9 qia:ﬂgﬁ from one cell to

BT AT B | another




174.(3)
(3) THI (A)
‘hXdl
175.(3)
176.(2)

178.(3)

[NCERT-II-180]
3R (R) &I B 3R (R), (A) BT el AR
|

[NCERT-11-80 to 82]
[NCERT-I-6 to 8]
[ =dr

I. Gl
. foeei

IV. HBTY
[NCERT-I-24 to 30]

— T H SRR foRTe

— AT H SRR TR

ST H ARG faToT

— dIY] ARg BT H

SR faTeT
[ Old NCERT-][NCERT-1-58]

— WERT AT 91T oTs

- IATF TS

GRem & forg ufceat

174.(3) [NCERT-11-180]

(3) Both (A) and (R) are correct and (R) is the correct
explanation of (A)

175.(3) [NCERT-I1-80 to 82]
176.(2) [NCERT-I-6 to 8]

A. Panthera I. Tiger

B. Canis Il. Dog

C. Felis ll. Cat

D. Solanum IV. Makoi
177.(2) [NCERT-I-24 to 30]

A. —  Meiosis in zygote

B. —  Meiosis in zygote

C. —  Mitosis in zygote

D. —  Meiosis in spore mother cell
178.(3) [ Old NCERT-I][NCERT-I-58]

— Supporting roots

— Adventitious roots

— Taproots

— Leaves for protection




179.(2) [ Old NCERT-I][NCERT-I-71 to 77]
qreg BIRGIY / SHdd o

ReTH HINRTHT, ABTIS BB, ARABTSHT,
JMaTdH PIRIGR, FAITH, , Goiedidd, AFETZE,

180.(3) [Old NCERT-I]
Il BIRGRT § 9d & T & MER UR
yferl & & 9 § farfora fbar Sirar 21 98 <1
CU

(3) dfegrdl iR Ira3Td!

179.(2) [ Old NCERT-IJ[NCERT-I-71 to 77]

The plant cells/tissue

Guard cell, Subsidiary cells, Parenchyma, Bulliform

cells, Phloem, Mesophyll

180.(3) [Old NCERT-I]

On the basis of the mode of pouring of their secretions,
glands are divided into two categories these categories

are Exocrine and endocrine
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